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Abstract 

This research aims to study the flexural strength of steel fiber reinforced concrete beams after 
exposed to chloride environment. Seven reinforced concrete beams of 0.15x0.275x1.80 m size with a 
constant reinforcement ratio were cast and five of them had steel fiber content of 0.5% by volume of 
concrete. Four beams were exposed to 5% chloride environment and under cyclic wetting and drying 
condition (5-day wet and 2-day dry per cycle).  The others were exposed to no-chloride environment (pure 
water) and under cyclic wetting and drying condition. After exposure until some deteriorations of steel 
corrosion were occurred along stirrup bars of beams.  It was found that reinforced concrete beams in 
chloride environment were more deteriorated than those in no-chloride environment.  Then, all beams were 
tested to investigate the flexural strength.  From the experimental results and flexural strength theory of 
reinforced concrete with steel fiber, the loss of cross sectional area of reinforcing steel due to corrosion can 
be estimated by back calculation. 

Moreover, an automatic system of cyclic wetting and drying condition was designed and 
developed in this study in order to facilitate the experiment of cyclic wetting and drying condition.  The 
water was sucked up to the tank for 120 hours (Dry) and released to the bath for 48 hours (Wet).  The total 
period of cyclic wetting and drying was 168 hours per cycle. 
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suε   =   ����	ก��	��#��$-�$%�������(ก�$�'
��������� 

s′ε    =   ����	ก��	��#��������(ก�$�'
��������� 

uε  =   ����	ก����#��$-�$%�)�
��ก��# 

yε  =   ����	ก��	����#������%�
��ก������(ก�$�'
 

fε  = ����	ก��	��#������$"�)	���(ก��������� 

cf  =   ����	������ ��������	���������	�
)�"���
��ก��# 
'cf  =   ก1�������������
��ก��# 

ff  = ก1�����������������$"�)	���(ก 

rf  =   ก1����������������
��ก��# 

sf  = ����	������)����(ก�$�'
���� 
'sf  = ����	������)����(ก�$�'
�� 

suf    =   ����	������$-�$%�)����(ก�$�'
 

tf  =   ก1����������������
��ก��# 
 

 



 � 

�����������ก	
� (���) 

 

yf  = ����	������)����(ก�$�'
����%�
��ก 
g  =   
��
��
������������ก�������-����0�ก  
h   =   
��
��ก���
�� 

gI  =   0
�
�#.�'�����.�2�	 

crI  =   0
�
�#.�'�����.�2�	�����"�#�������"�� 

tI   =   0
�
�#.�'�����.�2�	�����"�#������ (�#�+
��"��) �
.4 
jd  =   2������0
�
�#. )�ก��
1���7������ 
kd  =   #1�������ก�$���'������ก*'���ก$%�����"�������������� 
K  =   $#'8��$ก����� (=  LEI ) 
 l    =   ��	�������������%������� 
 L   =   
��
	�����
�� 
 M =   0
�
�#.��� 

crM  =   0
�
�#.����#ก�"�� (Cracking moment)  

yM  =   ก1����#"�����0
�
�#.����
������(ก�$�'
��'�

��ก  

nM  =   ก1����#"�����0
�
�#.���$-�$%����
��  

sn  = ��#��$���0
�-��$ (Modular ratio) ������(ก�$�'
   cs E/E=  

fn  =   ��#��$���0
�-��$ (Modular ratio) ����$"�)	���(ก cf E/E=  
P  =   ������ก���1� 
φ   =   
�����
��
0
"���������
��
2������$"��$������	ก��	����#�� 

(Curvature) 
ρ       =   ��#��$���������!������"�#�����(ก�$�'
���������#�����!�������$'�&'*���� 


��ก��# bd )/( bdAs   
'ρ       =       ��#��$���������!������"�#�����(ก�$�'
���������$�����#�����!����  

      ���$'�&'*����
��ก��# bd )/'( bdAs  

bρ  =   ��#��$���������(ก�$�'
���$
�%�	. (Balanced steel ratio) 

maxρ  = ��#��$���������(ก�$�'
���
�ก���$%� 

minρ  =  ��#��$���������(ก�$�'
����"�	���$%� 
σ  =   
��
�
"� 
T =   ������)����(ก�$�'
  
u  =   ����	���	�������	� ��������	���	�������	����	�
)�" 
v  =   ����	����L������ก���1� 
 



 � 

�����������ก	
� (���) 

 

cv   =   ����	����L������	�
)�"���
��ก��# 
V   =   ����L������ก���1� 

cV   =   ก1����#"���������L���0�	
��ก��# 
w/b  = ��#��$�����������!1�#����$�%���$�� 
w/c    =   ��#��$�����������!1�#���-����
�#. 

bottomy   =   ��	���ก�ก�$���'�����-�#��/��*'���������"��
�� 

nψ        =  #�����ก����������ก*������'
�7�$"�)	���(ก 
f(t,n)  =  ����	���������
��ก��#���
�*$
�$"�)	���(ก 
ft,y  = ก1����������������
��ก��#���*$
�$"�)	���(ก�
������(ก�$�'

��ก 
Pf  = ������/������$"�)	  
ne  = �1��������$"�)	���(ก���$'�&'*�)��',���)�M#�����������	 �!����  
Vf  = ��'
�7�$"�)	���(ก)�
��ก��# (�"�	��0�	��'
�#����
��ก��#) 
df  = �$"�*��,-�	.ก�������$"�)	���(ก 
lf  = 
��
	������$"�)	���(ก 
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����� 1  

   
1.1 ���	
 

 
 �����ก�	
����
�ก����
����
������ก	��	��	�ก����
�������ก� !� �����"#�����������$���$��
��
�$����	�%�
��%����� ��ก����	�ก����
�������ก
��
&�� !� �ก	%'���
(���
��$����	����%�ก�)	��	#��* 
���
��
&�� !�ก���	�%�
��
 !������%����+����%���ก�� ",���	�
&�ก��
�
	��-)�	���
���.,�$��
��
�������
ก���/	�ก �ก��- �
��%ก�	�����	 �����	����
��
�����,!� 
 
 ก��
���	�ก����
�������ก��
�	%'�#����
(���
��$����	����%�ก�)	��	#��*� !� ��	�	�0 %�1"" %
��)!	���� � ���! �)	 ��2
�� ���	��	�ก��� ��%���������ก ก�������	�"���2(�-�	�� !��	���ก��ก�	
���� 
$��	%���#�ก������
(���
��$����	����%�ก�)	��	#��* ����ก��3�� �
��
&�� 4
��
��
��ก�	����ก�������
�%��%
��)�	�"�กก��
&��5�ก���%�ก ���	#��* 
&�����ก��
���$���%�%� �
&�����ก��ก��$�ก�����	��	�ก���  
��+�
����ก�������
�%��% 
 
 6��������0�ก�����!",�#��
��	��&��
���%����ก (Steel fiber) A,����3�� 
��
������2
�� ��ก��� �$��
�,�#��
'���ก��)�	�
�%�ก �����ก�
���$��% ���
������%��ก���/	�ก �ก��$
�กA,��	���	#��* ��3�� 
��+
�
�-���  ����� �	%������
��� �-)�	�&�#�����%��
�%�ก �� �	%���
��#��#��+
����� �	%��������� ��ก&�� �����
��
$��� �#��
'�ก���ก � �	กก"�ก��!% ���ก������%��	��	�ก�����������ก��� �	%������
����-)�	����%�����
�
�%��%�	�� �	%��� ��	�"�$
��.,���B�ก���&���2ก�������ก&�� �� �$��� ��	�� �	%���6�%��B� BUU 2 
method $��ก���&���2�������2ก��
'4�
�%����� ��	�����ก�
���	 ���)�	���"�กก����ก��	��	���	
#��* �-)�	�&�#�- J�����ก �
(�-$����	�"���#�� 
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1.2 �
��������������
����
� 

 
1. �-)�	0,กL�ก&�� �� �$��� � (Flexural strength) �	�����	�ก����
�������ก
��+
��
���%����ก

$��#��+
��
���%����ก 
2. �-)�	����%��
�%�ก&�� �� �$��� ��	������
(���$����	��ก�)	��	#��* �
�%�ก ���
(���

$����	��ก�� 
3. �-)�	0,กL�$������%��
�%�ก���&���2ก&�� �� �$��� �ก �ก��
�
	�ก&�� �� �$��� � �1"" %
����

+���	ก&�� �� �$��� ��	�����	�ก��� $��
����.�����2ก��
'4�
�%����� ��	�����ก�
���
#�� 

4. �-)�	- J������ ��V%ก
� �$��� (Wet and dry cycle system)  
 

1.3 ����������
����
� 

 

 �����" %ก&�� �� �$��� �$��������
��	�����	�ก����
�������ก
��+
��
���%����ก ��
(���
$����	��ก�)	��	#��* 6�%��
(���$����	��ก�)	��	#��* 5.0% ����	�ก����
�������ก+
��
���%����ก 
0.5% 6�%������� �����	�����)	 0.15 x 0.275x1.80 m ��%������	�ก��
 �+ 
��V%ก (��	#��*) $��
$��� (	�ก�0) �)	 2 � � $�� 5 � � ����&�� � �����%������	�	� 7 � � �&�����#�"�ก��
 ���ก������
�
�%��%ก �����	�ก����
�������ก",�
&�ก��
�
	�ก&�� �� �$��� ��	���� 
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����� 2 
 
 

���	�
��
�����������ก�������
 
 

 
2.1 ก�����������ก ���
!������
�
"�"��
������ก��!�#��$���%ก [3] 

 
ก�����	��
��ก
��������������������	���������
����� ��� !��ก������ก����"�#
����ก"���$ก 

��ก%�ก%
&��	��ก
������������������������
��#�� ����'�������(��	�����	���)	�� (Curvature:φ ) 45���67�
	���8�����������������'ก��'9������������	����ก�"�������������
��#�� 	��	���)	�����&��%
�
�&6:8�
���	��
����	�����ก��������9�)ก��������	�� (��9���%�ก	���)	�� φ ��	������ก�" M/EI �������) ����%�
�
�&6��	�������'� (Ductility) ���	��ก������%
�ก��ก����"���&��  

���$��D�����:8�:�ก�����	��
����ก
������������������������# :  
1. �
��"�G6��� '��	��67��
��"��#�ก�����
����ก����"������ �������'	������ก��ก�
%�'���

����'ก��'9���
�����"���������67��������)�'���ก�"�
'
�������%�ก����ก��
���� 
2. ก��'5������'��
�����	��ก���ก�"���Iก������67�&6�'�����"G�J�����	9�����'ก��'5����:����Iก

�������	������ก�"����'ก��'5�������	��ก��� J �
���������'�ก�� 
3. :��	������ ��K��
���������'������ ก�"����'ก����������	��ก��� �67��������)�'�����9��

����'������:�	��ก��� ( 'f c ) ����ก���5#���	�����'ก��� 0.50 'f c  ()�'6�
��J) ���	������ ��K��
���������'
������ก�"����'ก����������	��ก����������
ก����ก��ก����"���&���67��������ก�� ��
:������'ก�������
�G��$����	��ก�������ก�" 0.003 ��./��. 

4. :��	������ ��K��
���������'����5�ก�"����'ก��'9����������Iก����� �67��������)�'�����9��
����'ก��'9���� ( sε ) ��	��&���ก������'ก��'5�������%$�	��ก ( yε ) )�'���Iก�������	��)��G���'9��'$������ก�" 2.04 
×106 กก./4�.2 ��
:��	����5ก6�
���K�P�45�����%�กP��"����	����'���
���������%$�QG�'�(���������Iก
�������	������ก�" d  4�. ����G6��� 2.1 
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�)*��� 2.1 �������	��	��ก�����������Iก 
 

2.1.1 ก ���
!������
�
"�"�$+�������
,$-���� (Section uncracked) 
 
�$+���#��$���%ก
�� Double reinforcement: 
 

 ��9��	����"�#
����ก"���$ก� �'���Iก���' ����'����5�����ก���5#����P���������	����	�����'ก���	��)��G���
���ก����ก���� (Modulus of rupture: rf  = 2.0 'cf  กก./4�.2) �����#� 	��%5�'��&������ �������	��ก���
��#�������	��%5������(��"����'�������ก���5#�&��)�'����'ก��'9������ (Strain distribution) "��������%

ก�
%�'�""�8������)�'��	���67��������)�'���ก�"�
'
�������%�ก����ก��
���� ����ก��ก�
%�'�������'
��� (Stress distribution) "��������%
�67��������ก�"����'ก��'9��������
��	���'G�:�8����������ก 
 ก�����	��
����ก
�������������������9��	��'��&������ ��9����������Iก�"" Double reinforcement ��#���
���ก:�ก�����	��
���8�����'�ก�"	�������������Iก��"����5��'������'� )�':8����กก���6���������	��ก���
��������Iก :���67�����������	��ก����'������'� ��9�:���67��������������Iก������'������'� �������	��
����
	������� )�':8��G�������� (Flexural formula) ����!^_� �������ก�8�����'�ก�"	�������������Iก��"����5��'���
���'� )�'��������'���ก���6�������������G6��� 2.2 
 
 
 
 

b 

As 

h d 
'
sA

'd
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�)*��� 2.2 �G6���	�� ��
��������6����9����������Iก�"" Double reinforcement 
 

%�ก������$��D����������� �����#�����
������������Iก����� : cs εε =  
 ���%�กก_���a$	 %
&��                        sss /Efε =  ��
 ccc /Efε =     
 :���9�� sE  ��
 cE �67�)��G���'9��'$��������Iก�������
���	��ก��� ����
���" 

 �����#�                                                       cc
c

s
s nff

E

E
f ==  

 
:���9��

 
cs/EEn = ���'ก������������)��G��� (Modular ratio) 

 %�ก��ก�������������������Iก����������(��"���&��(5� n �������	��ก��� �������'	������ 
�����(�6����9#�������Iก����� sA :���67���9#����	��ก���������'"����&������ก�" snA ��
 '

snA  
 b
��#� ��9#���������������6��    '

ssct nAnAAA ++=  
 ��� ��9#�����$�K����	��ก���                   '

ssgc AAAA −−=   
 ����	9� ��9#���������������6��  ( ) '

ss
'
ssgt nAnAAAAA ++−−=  

            ( ) ( ) '
ssgt A1nA1nAA −+−+=  

 
 	������������
�:��	��������������'ก��� ��������ก���� (Cracking moment : crM ) 45��%
���	��
��&����9��
����'����5�:�	��ก����������	����	������ก�"	��)��G������ก����ก���� 
 �����#� %�ก�G��������      tMy/If = ��9� /yfIM t=  
 :������#       'f2.0ff cr ==  

 
        tI  = )���������������8�'�����������6�� (���&������) 4�.4 

(��:��   bottomy  =  �
'
%�ก����ก��
��������G6���(5�P�������������	�� 4�. 

ก)�G6���	�� �)��������6�� 

y 

'd
 

( ) '
sA1n−

( ) sA1n −

b 

d 

As 

'
sA
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�����#�ก
�������������������9�����������     ( )
bottom

tc
cr y

 I'f2.0
M =  กก.4�.               (2.1) 

 
��9�� �%��J��G6ก��ก�
%�'�������'ก��'9������ %
&��	���)	����9��	����������� 
 

Cracking curvature ( )
bottom

cc

bottom

r
cr y

/E'f2.0

y

ε
φ ==                  (2.2) 

 
2.1.2 ก ���
!������
�
"�"�$+��������� (Flexural strength when section cracked) 

 
�$+���#��$���%ก
�� Double reinforcement: 
 
	��%
������9����"�#
����ก"���$ก:8���� � ��
����'����5�:�	��ก����������	����	����กก���

)��G������ก����ก���� �'���&�กI�� &�������(�����I���'������#&�����'���6��� �������
��#����'���:�
	��ก�����
���Iก�����'���'G�:�8����������ก ( '0.5ff cc ≤ ��
 ys ff ≤ )�����#�ก�����	��
��������'������
�ก���5#� ��9�ก
����������������������( �%��J�&��%�ก��������6�� (����) ����!^_��������ก��9�:8��!^_�
������� (Straight-line theory) กI&�� 

 

 
 

�)*��� 2.3 �G6���	�� ก��ก�
%�'�������'ก��'5���� ก��ก�
%�'�������'��� 
��
 �����':�"�������� 
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%�ก��������'�	���' %
&��  

                     
kdd

kd

ε

ε

s

c

−
=  

���                 
E

f
ε =  

 

�����#� 
kdd

kd

/Ef

/Ef

ss

cc

−
=  

                                   
kdd

kd

f

f

E

E

s

c

c

s

−
=×                                                                    (2.3) 

    
%�ก���$�������"�������� %
&�� 
 

TCC cs =+  

sscss fAbkdf
2

1
fA =+′′   

scs ρbdfbdkf
2

1
fbdρ =+′′  

scs ρff
2

k
fρ =+′′   

                                         ρ
f

f

2

k

f

f
ρ

s

c

s

s =+
′

′                                        (2.4)   

��� (2.3) :� (2.4) %
&�� 
 

kdd

kd

f

f
ρρ

k

2
n

s

s

−
=







 ′
′−×  

k1

k

f

f
ρρ

k

2n

s

s

−
=







 ′
′−                           (2.5) 
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%�ก��������'�	���' %
&�� 

kdd

dkd

ε

ε

s

s

−

′−
=

′  

���     
E

f
ε =   

 

�����#�  
kdd

dkd

/Ef

/Ef

ss

ss

−

′−
=

′  

                             
kdd

dkd

f

f

s

s

−

′−
=
′                                                (2.6) 

 
��� (2.5) :� (2.6) %
&�� 
 

k1

k

kdd

dkd
ρρ

k

2n

−
=
















−

′−
×′−  

 
( )
( ) k1

k

k1d
d

dkd
ρρ

k

2n

−
=















−

′−
×′−  

 
( )
( ) k1

k

k1
d

dk
ρρ

k

2n

−
=















−

′−
×′−  

 
( ) ( )[ ]

k1

k

k1
d

dkρk1ρ
2n

2

−
=

−

′−′−−
 

 

( ) 2k
d

d
kρk1ρ2n =















 ′
−′−−  

 

2n

k

d

d
ρkρρkρ

2

=
′

′+′−−  

 

( ) 0
2n

k
kρρ

d

d
ρρ

2

=−′+−






 ′
′+  
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( )[ ] 0
d

d
ρρkρρk

2n

1 2 =






 ′
′++′+−+







−  

 
� ��
b
��#� 
 

( )[ ] ( )[ ]

















 ′
′+







+′+±′+−
=

n

1
d

d
ρρ

n

2
ρρρρ

k

2

 

 
ก ���
!������
�
"�"�$+�����%ก�#��$����$���ก yM  :  
	����6����J���Iก��������' � (Under reinforcement) ���Iก�����%
(Gก�5�(5� %$�	��ก ( ys εε =

��
 ys ff = ) ก���(��ก��ก�
%�'�������'������:�	��ก���'���'G�:�8���'9��'$�� %
����������
	���)	��
��9�����Iก����������	��ก)�'�!^_��������&�� 

%�ก�G6��� 2.3 :������'ก��'9���� ys εε =  �����#� ����5� ys fAT =  
��#�	9�         Yield moment   :  )'()( '' ddfAjdfAAM ysyssy −+−=              (2.7) 

                           Yield curvature :   
kdd

/Ef

kdd

ε
φ

syy
y −

=
−

=                 (2.8)  

���(��ก��ก�
%�'�������'������:�	��ก���&���'G�:�8���'9��'$�� ��9���9��	�������Iก������67�
6����J��ก (Under reinforcement) ก�����	��
��)�':8��!^_�����������ก����������� %
�
�:��&��	����������� 

yM ��ก&6 ��
	�����	���)	��  yφ  ���'&6 ก�����	��
��)�'�
���'�%
�
���K����P�����(Gก ��
��Q�'�G6
	������ ��K��
���������'������ก�"����'�����������	��ก��� 

 *��$�H���%ก�#��$!� �#I" : 
��9��	��	��ก�����������Iก��������� 	��ก���%
(��'����'����5�:��ก�"���Iก���������'G�:�	������� 

6����J������Iก��������:8�������6����J�'������'��������(���������������ก����&�� ��b
��#���9��	��ก���
��������� 	��	��ก�����������Iก��#�%
��"���b�" �������� 6����J������Iก������'������'�������:8�:�	��
	��ก�����������Iก  �%��J�&��%�กก�����$��:������'����5�:����Iก�������ก
����(5�%$�	��ก ��#�	9�   

 
  jdfAM yscr =   
 
 ���  /6bdfI/yfM 2

rrcr ≈=  
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�����#� ( )yrs /ff0.2bdA = ���$����� �
'
 7/8j =  
 ��9�����	�� 'f2.0f cr =  กก.-4�. ��
���$������6�����'����ก�" 2.0 
 

 �����#�  ( )ycsmin /f'f0.8bdA =  
 ��9�   /y'f0.8/bdAρ csmin ==  
 (��ก
����:��  ='fc  250-400 กก./4�.2   %
&��  ymin 16)/f(13ρ −=  

 b
��#� � 9��6m��ก��ก����"�������ก���'���b�" ����������9������'����6��กn���������"����5� ����D�� ACI 
��9� �.�.�. %5�ก
����6����J���Iก�����������'����$��
����"����)	������������"������ �����#  

1.) :��:8� ymin 14/fρ ≥  ��9� 
 2.) :��:8�6����J���Iก������'������'����ก�" 1.33 �������	�����	
���J&�� 
 ���%
�ก�����6����J���Iก�����������'����$����ก����������� &��:8�ก�"�P�� 9#� 	��ก�����������Iก��������
���Iก������'� ���%
ก
����6����J���Iก������'������'�������:8� :������ก�"6����J������Iก���������ก��'9�
����9��6���'��6���$J��G�� 
 
2.1.3 ก ���
!������
�
"�"#)
#I" (Nominal flexural strength) 

 
�$+���#��$���%ก
�� Double reinforcement: 
 

                                                     
 
 
 
 
 

 
 
 
�)*��� 2.4 �G6���	�� ก��ก�
%�'�������'ก��'9������ ก��ก�
%�'�������'��� )������ n1M  

��
 )������ n2M  

(�) )������ Mn1 (%) )������ Mn2 (	) ก��ก�
%�'������    
����'�����
��� 
��':�"�������� 

(�) ก��ก�
%�'���       
�������'ก��'9���

'dd −
 

cβa 1=
0.85

'
cf  

�ก��
���� 

b 

d 

As 

d-c 

c = kud 

T1=As1fy 

(ก) �G6���	�� 

ab0.85fC '
cc =

 

T=Asfy T2=As2fy 

uc εε =
 

ys εε ≥

 

'
s

'
s

'
s fAC =

 

2
a

d −

 

'd
 

'
sA '

sε
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 ก
������������������G��$����	�� nM  %
&��%�กก�� �%��J����ก
������������������G��$� 2 ���� 
	9� n1M  ��
 n2M )�'��� n1M  �67�ก
������������������G��$����	��������G6����6��'"���9���67�	����������
���Iก�������"����5��'������'� ����G6��� 2.4(�) ����	9�ก
������������������G��$�%
 �%��J�&��%�ก������:�
�������	��ก��� ��9�%�ก����5�:����Iก�������"����5��������9#���������������ก�" s2ss1 AAA −=  ����ก
����
��������������G��$� n2M  �67�ก
��������������������&��%�ก������:����Iก�������"�������������9#�����������

����ก�" ′
sA ��9�%�ก����5�:����Iก�������"����5� �������9#���������������ก�" s2A ����G6��� 2.4 (%) 

 ����	9� ก
�����������)�������G��$����	�� n2n1n MMM +=  

 ��9��&��	����9#�������	��ก���45��(Gก���������'��9#����������Iก�������"������ ′
sA  

  0.5a)ba(d0.85fM cn1 −′=  ��9� 0.5a)(dfA ys1 −    

  )d(dfAM csn2 ′−′′=  ��9� )d(dfA ys2 ′−  

 �����#�  )d(d'fA0.5a)ba(d0.85fM sscn ′−′+−′=                 (2.9) 
 ��9� )d(dfA0.5a)(dfAM ys2ys1n ′−+−=                            (2.10) 
 ��#���# �������"�
�������������
���� c  ก��� � ��
��9�����" c  กI%
���
'
 a  &�� c)β(a 1=  
��
�
�:�����"����'������:����Iก�������"������� 'f s ��9�6����J������Iก����� 2sA  45������ก�" 

yss f/'f'A  
 
 ! �
��-

��
ก�#����� :  
 %�ก���$���������':� %
&�� 

  ′+= sc CCT  
  ''fA'ba0.85ffA sscys +=  

���  cβa 1=  ��
 ssss E0.003
c

dc
Eεf 




 ×
′−

=′=′  

�����#�  ′





 ×
′−

+′= ss1cys AE0.003
c

dc
cbβ0.85ffA  

	GJ�������' c  %
&�� 

  0A(0.003)Ed)cFAA(0.003E)cbβ(0.85f ssysss
2

1c =′′−−′+′  
���	��  6

s 102.04E ×=  กก./4�.2 %
&�� 

  0Ad6120)cFA(6120A)cbβ(0.85f syss
2

1c =′′−−′+′  
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�ก���ก��ก
������� %
&���
'
�������ก��
����  
  QRRc 2 +±−=  

��9��  
1c

yss

bβ1.7f

fA'6,120A
R ′

−
=   ,   

1c

s

bβ0.85f

Ad6,120
Q ′

′′
=  

 
�����#� ��9�����" c  %
������'������:����Iก�������"&��������&��%�ก 






 ′−
=




 ′−
=′=′ 6120

c

dc
E(0.003)

c

dc
Eεf ssss  กก./4�.2  

�
�	�����&��ก��"&6�����:���ก�� (2.9) ��9� (2.10) %
&��ก
��������������������	���������#�
���Iก�������"����5���
��������Iก��"������ 

��5�� (������'������:����Iก�������"��������ก
����(5�%$�	��ก (����	9� ys ff =′ ) ก��	
���J�����
%
���'��ก�5#� ก����	9� 

%
&�� 'A/f'fA'/f'fAA syysysss2 ===  
��
   'AAAAA sssss −=−= 21  
b
��#� ก
������������������G��$�  

21 nnn MMM +=  = ( ) ( )ddf'A
a

df'AA ysyss ′−+






 −−
2

 

( )ddfAbdRM ysun ′−′+= 2  
��9�� 

  ( )
′

′−
=′






 ′−

=
c

y

c

yss

f.

dfρρ

bf.

fAA
a

850850
 

( ) ( )














′
′−

−′−=
c

y

yu

f

f0.59
1fR

ρρ
ρρ  

��!��#-����
���%ก�#��$���#L���#$"I� (Balanced steel ratio:
b
ρ ):  

 �������
��# ����'ก��'9����������Iก�������"����5���	������ก�" 
y
ε  ��
����'ก��������G��$����

	��ก�����	������ก�" 0.003 ( sε = yε , cε = 0.003) 

 (��:������'ก�������������Iก�������"��������	������ก�" '
sε  

 %�ก�G6ก��ก�
%�'�������'ก��'9����   %
&��  ( )yuu
' εε

d

d
εε +

′
−=s  

                                                                                         ( )




 +
′

−= yuus
'
s εε

d

d
εEf
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%�ก���$�������"��������:������� 
        ′+= ss CCT  
                     ′′+′= sscys fAba0.85ffA  

��9������������' ybdf  %
&��  

       
y

s
b f

f
ρρρ

′
′+=  

                           b
y

s ρ
f

f
ρρ =

′
′−  

 
 ���� 9��:��	����	�������'���ก �ก����ก��ก����"�����9�:��	����"����"" Yielding failure 45�����Iก
�������"����5�%
(Gก�5�(5�ก
�������%$�	��กก��� �������D�� ACI ��9� �.�.�. %5�ก
���� ���������������Iก
����������ก����$� �����# 

  b

maxy

s 0.75ρ
f

'f
ρρ =










′−  

 :�ก�J�������Iก�������"������(Gก���(5�ก
�������%$�	��ก ( ys f'f = ) �����#� 

  ( ) bmax 0.75ρρρ =′−      

)�'��� 
yy

c
1b f6120

6120
.

f

'f
0.85βρ

+
=  

 �
����"���������������Iก����� )ρ(ρ ′− ��#���
�45��%
�
�:�����Iก�������"������(Gก���(5�ก
�������%$�
	��ก�������
ก�����"��� :�� �%��J�%�ก�G6ก��ก�
%�'�������'ก��'9������ )�':8��!^_���������'�	���' 
45��%
&��  
 

                   
( )






 ′
−=

′−
=

c

d
ε

c

dcε
ε u

u'
s 1  

 
 %�ก���$���������':�%
&�� 

                    1cβa =  

                    
( )

)'f.(

df)'(

)b'f.(

f'AAa
c

c

y

c

yss

850850 222 β
ρρ

ββ
−

=
−

==  
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�����#� ����'ก�������������Iก�������"������ 

                   
( ) 












′−

′′
−=′

dfρρ

df0.85β
1εε

y

c1
us  

 ��9������ก��:�����Iก�������"������(Gก���(5�%$�	��ก ����	9�	����� 
s

y
s E

f
ε ≥′  

 ��9�  
( ) s

y

y

c1
u E

f

dfρρ

d'f0.85β
1ε ≥













′−

′
−  

 ����	9� ����:8� 

s

y
u

u

y

c
1

E

f
ε

ε
.

d

d
.

f

'f
0.85βρρ

−

′
≥′−  

 ��9��ก
����:�� 26
s kg/cm102.04E ×=  ��
 0.003εu =  

 %
&�� 	�� )ρ(ρ ′− ��#���
�����
�:�����Iก�������"������(5�ก
�������%$�	��ก ����	9� 
 

s

y
u

u

y

c
1

E

f
ε

ε
.

d

d
.

f

'f
0.85βρρ

−

′
≥′−                           (2.11) 

 ���'	������ (��:8������������� )ρ(ρ ′− ���'ก���	�����&��%�ก��ก�� (2.11) ����������Iก�������"
������(Gก���&��(5�ก
�������%$�	��ก 
 
2.2 �#��M����%ก (Steel fiber) 
 ����:' (Fiber) �67�����$P��� ����'�����5�� 8��':��	��ก�����	�����������������5����5#� ��ก��
��ก���� (Plastic shrinkage) ����%���	����������������ก�
��ก��
ก�����'������5#� ����$���:8�	9� ) ��
 �s ���� (Polypropylene) ��9�����:'���Iก (Steel fiber) :�6����J 0.4 t 1% )�'6���������	��ก��� [4] 

����:'���Iก���:8�:����������P�����	��ก���:�	��#���# P���)�'"��^�� �����ก4� (Dramix) ��89�� 
���'ก��� vRC-65/35-BNy 45������ก^J
�67�������� �G6����	���� ��
���:��&�����	���'���������ก�� � 9��:8��67�
����$P��:�	��ก�����������Iก ������� ��
����$6�
ก�"�9�� �   

RC-65/35-BN ��# �67��������:'���Iก����'I� ��6����J	���"����
� ���6��'��#����������ก�� ��
��ก��
'5��������
��������'G�:�ก�$�� )�'����������P���QG�'�ก��� (Diameter) ����ก�" 0.55 ��������� 	�������� 35 ���
6��กn:�89�� ���'(5� 	���'������������:'���Iก ������'�67���������� ��
	�������� 65 ���'(5� 	��
����������G6��� (Aspect ratio) 45��ก���"��8�#�6�
���K��� �������:'���Iก ��&��%�ก����������
�����	���
'��ก�"����P���QG�'�ก�������������:'���Iก 45��:������#����������G6�����	������ก�" 64 �����9���%�ก
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6�
���K��� ����������:'%
�"��&���67�8�#� 45 65 ��
 80 �������:'���Iก vRC-65/35-BNy   %5�(Gก%��:���'G�
:�8�#� 65 ����:'���Iก8�����#:��#
����ก 1.0 ก�)�ก�����#�%
���������:'���Iก 6�
��J 14,500 8�#� ��
��ก
����
��"����5� ���'����$� ����ก�" 1,213 ก�)�ก������������4������� 
 
2.3 ก�����������ก ���
!������
�
"�"��
������ก��!�#��$���%กN#$�#��M����%ก [4] 

ก��� ���Hก ���
���
�
"�"������ก��!�#��$���%ก���N#$�#��M����%ก (BUU method) 
PG���%�'&��������K�ก��	
���Jก
������"���������	��	��ก�����������Iก���P������:' (BUU method) 

�������
����
����� ���&���ก� ก
������"��������9��	���������ก���� (
crM ) ก
������"��������9�����Iก����������	��ก 

(
yM ) ��
ก
������"�������G��$� (

nM ) )�'�����$��D��:�ก�����	��
��ก
������"������ ������&6��# 
1) �
��"����������'��	��67��
��"��#�ก�����
����ก����"������ �������'(5� ก��ก�
%�'���

����'ก��'9������"���������67��������)�'���ก�"�
'
����������%�ก����ก��
���� 
2) ก��'5������'��
�����	��ก���ก�"���Iก������67�&6�'�����"G�J� ����	9� ����'ก��'9���������

���Iก�������
	��ก�����	������ก������
���������'�ก�� 
3) ����'ก��������G��$����	��ก�������ก�" 0.003  
4) ก��ก�
%�'����������'�������G��$����	��ก�������ก^J
���
������67�ก�$������'������'"���� 

(Equivalent stress block)  
5) %
��������:':������ก��
������������(��"����5�%�กก��������	��:��	���67�%
������5��:�

��"������%
��������:'���P����#���� ��#���#��9���%�กก���
�����'������	�����:8�����"��ก
���������� 
(Flexural strength) �����	��
���������� 9���
�����"%
��������:'6�
���K�P������5������' 9#���� �����#�ก��
���	
���J'���ก��"� 9�����%��"	���(Gก���������ก�����:8��
���'ก
������"������ 
  6) ก
������"����5����	��ก������P������:'���Iก��9�����Iก�����	��ก����ก�"���'�
70 ���ก
������"���
�5��G��$����	��ก������P������:'���Iก 
  7) 	��ก������������ก����:���ก��
���������(��"����5�&�� ��9���%�ก������:'���Iกก�
%�'����'G� 
)�':��ก��ก�
%�'����������'����5�	��ก�����#����ก�"%
��������:'�����5������' 9#����	GJก�"	���b���'
6�
���K�P��������5�(������:' 45�������D�������#���9��ก�"��K�ก����� NJIT [5] 45�������กก�����	��
����
ก
������������������G��$����	�� �������:��G6��� 2.5 
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sA'

sA

s'ε
baf c'85.0

 
�)*��� 2.5 �G6���	�� ก��'9������ ก��ก�
%�'�������'��� ��� NJIT Method  

�����#�  )
2

a
(d)fA(A)d(dfAM y

'
ss

''
s

'
sn −−+−= )

2

a

2β

a

2

h
)(

β

a
b(hf

11
t −+−+     (2.12) 

)�'��� ett n0.7Pf =  

f
2
f

f
e lπd

(0.41)4V
n =  

tP  = ����5�(���������:'���Iก (ก�)�ก���) 

en  = %
�����������:'���Iก6�
���K�P�:���Q���:�������5������' 9#���� 

fV = 6����J����:'���Iก:�	��ก��� (% )�'6������) 

fd = ����P���QG�'�ก����������:'���Iก (�4�������) 

fl  = 	���'���������:'���Iก (�4�������) 
 
2.3.1 ก ���
���
�
"�"�$+���������$
!ก���� (Cracking  moment, M

cr
)  

 ก�����	��
��ก
������"��������9��	��	��ก�����������Iก���P������:'�������ก���������( �
�&��)�'
ก���6������������Iก�����"���
���� ��
����������%
��������:'6�
���K�P�:���Q���:�� �������'
 9#����45��	��%�ก��5��:�������%
��������:'��#������������D�������� 5 :���67��������	��ก�������
���'"���� �������:��G6��� 2.6 

Y

sA'

sA

crε

cε cf

sf  
 

   

sf'
ss 1)A'(n −

ss 1)A(n −

1)(n
3

bh
l 100

V
f

f

f −

 
�)*��� 2.6 �G6���	�� ก��'9������ ก��ก�
%�'�������'��� ��
��������6�� 
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%�ก  
s

s
s E

f
ε = , 

s

'
s

s E

f
'ε = , 

c

c
c E

f
ε = ��
 

f

f
f E

f
ε =  

��
  
c

f
f

c

'
s'

s
c

s
s E

E
,n

E

E
,n

E

E
n ===     

�����#� 

�
'
%�ก��"����	��(5��ก��
���� Y = 
t

f

f
f

''
ssg

A

)
2

h
(

l

hA
1)0.33(b)(n)d(h1)A(nd)(h1)A(n)

2

h
(A −+−−+−−+

      (2.13) 

 
    =fA  9#��������������&s�"���:���5������' 9#���� 

)������	����b9��'�����������6��   4321t IIIII +++=                 (2.14)       
)�'���     ])y

2

h
[(bh)()bh

12

1
(I 23

1 −+=  ,     

2''
s

'
s2 ]y)d[(h1)A(nI −−−=  

2
ss3 d)](hy[1)A(nI −−−=        ,  2

ff4 ]y
2

h
h[1)A0.33(b)(nI −−=  

�����#� ก
������"��������9��	���������ก��������ก�"  

              
y

If
M tr

cr =                                                            (2.15)                  

��
���ก����ก�
�
���9��	���������ก���� �
����" Four-point bend test ����ก�"   

      
L

M
P cr

cr 7

32
=                                           (2.16)       

2.3.2 ก ���
���
�
"�"�$+�����%ก�#��$���ก (Yielding moment, M
y
) 

ก
������"���������	��	��ก�����������Iก���P������:'��
��������Iก�������
�ก�������
���$�  ��9�����Iก
����������	��ก ( yεε =  ��
 ys ff = ) ก
������"���������	����%�ก������� &���ก�  ���������5��	9� M

y1
  �67�

ก
������"���������&��%�กก�� �%��J����9���67�	����������Iก�������
����:'��"����5��'������'�����G6 2.7(�) 
45��6�
ก�"���'����5�������Iก�������"����5� A

s1
 ����5��������:'���ก�
%�'������
�����:���ก��
���� ��


���������	��ก��� ��
����������	9� M
y2

 �67�ก
������"���������&��%�ก����5�:����Iก�������"����5������
 9#���������������ก�" A

s2
 ��
������:����Iก�������"����������� 9#���������������ก�" 'AS �������:��G6��� 2.7 (%)   
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62
kdh

+

kd

kdh−

..AN

uε
'
sε

ys εε =

cf
'

sf

ytf ,

yffs =

jd

cC

yfT ,

ys fAT 11 =

'dd −

'
sC

ys fAT 22 =

b

h d

'd

 �)*��� 2.7 �G6���	�� ก��'5���� ก��ก�
%�'�������'��� )������ My1 ��
)������ My2 
 
%�ก�G6��� 2.7 %
&��  

jd)fA(AM y
'
ssy1 −= + )

6

kd

2

h
kd)(b(hf t,y +−                (2.17) 

)d(dfAM '
y

'
sy2 −=                                  (2.18) 

��#���#:�� t,nt,y 0.70ff =   �67�&6��������D�������� 6 
�
����"	�� k �����(��&��%�ก��ก�����&6��# 

  y
2

yy QRRk −±−=                                                    (2.19) 

 
)�'���   Ry ��
 Qy &��%�กก�� ��G%�� %�ก�G6��� 2.7 45�������( ��G%��&�������# 
 
%�ก )kdh(bfTC'C y,tcs −+=+  

)kdh(bffAbkdf'f'A y,tyscss −+=+
2
1  

bkdfbhfbdfbkdf'bdf' y,ty,tycs −+=+ ρρ
2
1  

����������' bd %
&�� 

kf
d

hf
fkf'f' y,t

y,t
ycs −+=+ ρρ

2
1  

����������' fy %
&�� 
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	GJ�������' 1-k %
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)k(kf
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)k(hf
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

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


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df
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

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%����ก��:���'G�:��G6 Ak2 + Bk +c = 0 %
&�� 
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      �����#� ก
������"��������9�����Iก����������	��ก����ก�" 
         y2y1y MMM +=                                        (2.20) 

��
���ก����ก�
�
���9�����Iก�����	��ก �
����"Four-point bend test ����ก�" 
L

M
P y

y 7

32
=   (2.21) 

2.3.3 ก ���
���
�
"�"#)
#I" (Nominal moment, M
n
) 

ก
������"�������G��$����	��	��ก�����������Iก���P������:'��&��%�กP�������ก
������"���������
���� &���ก� M

n1
 �67�ก
������"�������G��$����	��������9���67�	����������Iก�������
����:'��"����5��'���

���'�����G6 2.8 (�) )�' �%��J�%�ก���Iก�������"����5� 1sA ก�"������:��������	��ก��� ��
����5��������
:'���ก�
%�'����'������
�����"����J:���ก��
����ก�"���������	��ก��� ��
 M

n2 
�67�ก
������"���������&��

%�ก����5�:����Iก�������"����5������ 9#���������������ก�" A
s2

 ก�"������:����Iก�������"����������� 9#�����������
����ก�" 'As  ����G6��� 2.8 (%)  
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(ก) �������	
 (�) ก	��
������ (�) ก	�ก���	�����
������

222

ach
−+

(�) ����
�� Mn1 (�) ����
�� Mn2
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d −
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h d
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'85.0 cf

ys ff ='
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ytf ,

cC

ys11 fAT =
nf,T

'dd −

'
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ys fAT 22 =

sA'

ntf ,

 

�)*��� 2.8 �G6���	�� ก��'5���� ก��ก�
%�'�������'��� )������ Mn1 )������ Mn2  

 

%�ก�G6��� 2.8 %
&�� 

 )
2

a
(d)fA(AM y

'
ssn1 −−= + )

2

a

2β

a

2

h
)(

β1

a
b(hf

1
t,n −+−                (2.22)

 )d(dfAM '
y

'
sn2 −=                                                         (2.23) 

     

�����#� ก
������"�������G��$����	��	��ก�����������Iก���P������:'����ก�" 

 n2n1n MMM +=                                              (2.24) 
)�'��� 

efnt,n nPψf =  
=nψ ���6�
ก�"6�
���K��� ����:' (Factor of fiber efficiency) 

4

πd
fP

2
f

ff =  

ff

f
e

ld

V
n

2

)0667.0(4

π
=  

1
t,n

'
c

t,n
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s
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β

b
fb0.85f

bhffAfA
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+−
=  

c

)d(c0.003E
f
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s'

s

−
=   )�'��� c &��%�ก c = nnn QRR +±− 2 ��
 Rn , nQ &��%�กก�� ��G%�� 

%�ก�G6��� 2.8 45�������( ��G%��&�������# 
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%�กก�� ��G%�� %
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

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cnt
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AdE
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+β
                    

��9���
�P�ก����������PG���%�'���
�ก��	
���J'���ก��" (Back calculation) %
&��	�����6�
ก�"
��9���%�กP����6����J����:'��
���6�
ก�"6�
���K��� ����:' (Factor of fiber efficiency) �����# 

      5575073 8618.2 0.)(V0.0ψ fn += −                                                  (2.25) 
                       

��
���ก����ก�
�
��G��$� �
����" Four-point bend test ����������")�'PG���%�' [2] ����ก�" 

L

M
P n

n 7

32
=                                                                             (2.26) 
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�)*��� 2.9 ��#����ก��	
���J��ก
������"��������9�����Iก����������	��ก ��
ก
������"�������G��$����	��
	��ก�����������Iก���P������:'���Iก 
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2.4 ก���ก�"#��$��
���%ก�#��$M����ก��! [1] 
 )�'6ก���������Iก���������'G�:�	��ก���%
(Gก6ก6m��&��:���ก���������'	����67���������G����
	��ก��� ��#���#��9���%�ก:�����
	����67���������G� ���Iก%
&�������(�ก��6n�ก���'��
)���	 (Anodic process) 
&������	9����Iก%
&�������(��ก����67������������Iก (Fe2+ ) ��
����	���� (2e) &����' 	����67�����:�
	��ก���)�'6ก����ก%
�'G�:�8�����#���� 12.5 (5� 13.5 �5#��'G�ก�"����$���:8�P�� ��
����P�����	��ก��� 
	$J�� ���	��ก����$�����IกกI�67�6�%%�' �
�	�����ก��	�"	$�	����67�����������Iก��������' 
 
2.4.1 ก�,กก���ก�"#��$��
���%ก�#��$M����ก��! 

���Iก�����:�	��ก���%
�67�����&�� กI�����9�� ��9���&���#� 3 6�
ก����#�����ก���5#� 
1. 	����67�����:�	��ก�������%�(5�6n�ก���'��
)���	 (Anodic process) �����(�ก��&�� 45��	���

�67�����:��
��"���%
�
�:��6n�ก���'��
)���	�ก���5#�&����#� %
��	����� pH ��
�ก����
��" 9 (5� 10 ��
��ก%

���'ก����
��"��ก!� (Critical level) ���	����67����� 	����67�����:�	��ก�������&�����'�����$�����
������&6��# 	9� 	���"���8��� (Carbonation) ก��45�P������	��&�������&6:�	��ก��� ��9�������ก��8
����
����#
���:�ก�J����	��ก�����	��� �$���ก 45��ก�&กก���
�:��	����67���������)�'����
�����$%
&���'ก
�K�"�'�67�������������ก���&6 

2. ��	���89#�� �'� ����%
�
�:�� �����������Iก (Fe2+) �����G�����
����
��' ��
 �� �'����%
�
�
6n�ก���'�:�ก���ก������ 45��)�'6ก��	���89#���ก%
� �'� ��'G�:�"����J	��ก�������$����"����Iก������'G����� 

3. ��6����J��ก4��%�� �'� �:�ก���
�6n�ก���'�� 9��ก���ก������ 45��6ก��������ก4��%�:�6����J���
� �'� �:�ก���ก��������ก%
� �������G�	��ก���"����J���Iก�����)�'P������8����������  &������������'�#
� 
(Unsaturated pores) ����	9�� ��P�����ก�Q:�8����������ก��� �������ก4��%�P������8��������������������'�#
� 
(Saturated pores) %
�67�&6&��'�ก ��9���%�ก��ก4��%��
��'�#
�&�����'��ก �����#� 	��ก����������������'�#
��'G�
����������ก%
&���ก������:����Iก 

ก�&ก���ก���ก������������Iก����� (�G6��� 2.10) :�	��ก���%
�����������'ก�����	����67�����:�
"����J����$����"����Iก������'G� ��	��	����67���������%�(5��
��"��ก!� ��
"����J��"����Iก�������
	���89#�� �'� � �
�:�����Iก�ก��6n�ก���'� Electrolysis �5#������ก�����&6��# 

   
−+ +→ eFeFe 22  
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)�'���Iก%
��ก����67������ (Fe2+) �����G���� ����
��' ��
����	����%
����&6������Iก 6n�ก���'�
��#���'ก��� ก�
"��ก���
)���	 (Anodic process) ���%�ก��#� −e2  ����ก��%�ก6n�ก��'��
)���	%
&6������ก�"
�#
���
��ก4��%����"����J���'�ก�� ��9�"����J:ก���	�'�ก�""����J����ก��6n�ก���'��
)���	 �
�:���ก���67�&a���ก
4������� ))(( −OH  �����ก�����&6��# 

 
−− →++ 2(OH)OHO

2

1
2e 22

 

 
45��6n�ก���'���#���'ก��� ก�
"��ก��	
)K��	 (Cathodic process) ����%�ก��#�6n�ก���'�ก���ก������กI%


�ก���5#������ก�����&6��# 
 

03HO2Fe3O6(OH)4Fe 2322
2 +→++ −+  

 
)�'��� 32OFe  กI	9��s���ก��ก&4�� ��9� ����������� 45��6n�ก���'���#���%%
�ก������"����Jก�""����J���

�ก��6n�ก���'��
)���	กI&��45�����'	������������%%
�ก��	��
"����Jก�""����J����G����'��9#����IกกI&�� 
 

−Cl 2O 0H 2

���ก��!

���%ก�#��$−e2
filmPassive

03H  O2Fe  3O  6(OH)  4Fe : "#��$����ก���ก� 222
-2 +→+++

3

#��$���%ก
-

22
- (OH) 2   OH  O 

2
1

  e 2 : _"������ก����` →++

-2 e 2  Fe  Fe : �"������ก����` +→ +

 
�)*��� 2.10 ก�&กก���ก������:�)	�������	��ก�����������Iก 
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2.4.2 N�ก������
ก���ก�"#��$M����%ก�#��$!-�`��
#���
���ก��!�#��$���%ก 
  �����$���ก����
�:��)	�������	��ก����G����'ก
������"�����&6%�กก���ก������������Iก��������'G� 2 

6�
ก�� 	9� 
1) ����������Iก"����J����ก��6n�ก���'��
)���	 (���Iก�G����'����	����) %
��Iก�� 

��9���%�ก��9#����Iก"������ก��'�67�����
��' (Fe2+) ��
����	���� (e-) �
�:�� 9#�����������:�ก����"���:�
"����J���ก���������������������Iก����������� 

2) ก���ก������%
�
�:���ก�����������	��ก���"����J��"���Iก����� ��9���%�ก�������Iก 
%
��6��������กก������Iก����������'��������G�����
��' 45��:�"��ก�J��������Iก��%��6��������กก��� 6 ����
������Iก���� (��6����J�#
���
��ก4��%�����ก��
"����J����ก��������%�67�"����J�����	�'�"����J������Iก
�G����'����	����กI&�� �����#�%
�
�:��	��ก����$�����Iก�������ก�������������Iก�����&�� (Splitting crack)  

      �����#�P�ก�
�")�'���%�ก�����$���������#กI	9� ก
������"������)	����������� )�'�b �
�'���
'��� 	����������	������ (Fatigue strength) ��
	��������(:�ก�����������9��6���'��6���G6���� 
(Elongation  ability) ���)	�������กI�������' ��ก%�ก��#� 	���'9��'$�� (Stiffness) กI%
���� ก���ก����'
��ก����'���67�ก������:���#
���
��ก4��%�����&6(5�"����J���Iก�����&����I� ��
��ก'����5#� �
�:������ก���ก��
����������Iก�����:����I���
�$����'����5#����' 

 
2.4.3 ก���ก�"��������a��� (Carbonation)  
      	���"���8����67��"��ก������6���'�P���P�"��8������6n�ก���'�&a���8��� 45��)�'6ก����ก%
�67�
�	��4�'�&a���ก&4�� (Ca(OH)2) ��
�	��4�'�4����ก�&a���� (C-S-H ) �
�:���67�P�����J��	���"���� )�'
6n�ก���'�%
�ก���5#�&��กI�����9��������	���89#���
ก��4	���"��&���ก&4�� 
 
ก�,ก��
ก���ก�"��������a��� 
      	���"���8����ก��%�กก�����ก��4	���"��&���ก&4��:���ก�Q �
�6n�ก���'�ก�"�	��4�'�&a���ก&4�� 
(Ca(OH)2) ��9� �	��4�'�4����ก�&a���� (C-S-H) "����JP��������9�:ก��P���������	��ก��� �����ก�����
6n�ก���'�������&6��# 

OHCaCOCOCa(OH) 2322 +→+                                                              (2.27) 

��9� 

O3H2SiO3CaCO3COO3H2SiO3CaO 223222 ••→+••                          (2.28) 
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       45������:�������%
�67�6n�ก���'� (2.27) ��กก��� (2.28) ��
:�	����67�%���������#����6n�ก���'�กI
����ก���#
�:�ก���
�6n�ก���'����' ��9���%�ก6n�ก���'�	���"���8����67�6n�ก��'�����ก��:���� �������
��' 
	��ก������(Gก	���"����&6����%
��	��� �$����'����9���%�ก�	��4�'�	���"�����67�P�P���%�ก6n�ก���'�
	���"���8���%
8��'�$�8�������������5��:�	��ก�����ก^J
���ก���
�6n�ก���'�%
�ก��:�"����J:ก��P������
���	��ก��������)�ก�����P��ก�"ก��4	���"��&���ก&4�� (CO2) :���ก�Q ��
ก��4	���"��&���ก&4��กI%

45�P�������&6:�	��ก���&����)�'P������8����������&��������� (Unsaturated pores) ����&6�
�6n�ก���'�:ก��
P���������	��ก���&�� �����#�	���"���8���%
	��'�	9"��������&6:���9#�	��ก������'��������8������9��'� 
� ��
ก��4	���"��&���ก&4������� ��P���)	�������8������� (Pore structure)���	��ก�����
P����������(Gก
	���"����&6���� 45��%
��	��� �$����'�� �
�:��45�P�������&6&��'�ก�5#� 
  
  ��9���%�กก���
�6n�ก���'�	���"���8�������ก����#�ก��4	���"��&���ก&4����
�#
� �����#�:�	��ก������
����������'�#
���9�	��ก��������������%
&���ก��	���"���8��� ��9���%�ก:�	��ก����������������'�#
�%
&����ก��4
	���"��&���ก&4��45�P�������&6&����ก ����:�	��ก��������������กI%
&�����#
�:�ก���
�6n�ก���'� �����#� 
	���"���8���%
�$���� :�ก�J����	���89#���� ��K������ก�Q�'G��
�����ก5��89#�ก5������ (Semi-dry) ����	9�
	���89#���� ��K��'G��
��������'�
 40 (5����'�
 60 ��
��ก��4	���"��&���ก&4��:���ก�Q��ก 
 
N���
��������a��� 
 	���"���8����
�:���ก��P�����
�	�� 3 6�
ก�� 	9� 

1) �
�:��	��� �$����	��ก���"����J����ก��	���"���8�����
��� 
2) �
�:��	����67��������	��ก���:�"����J����ก��	���"���8�����
��� ��9���%�ก�	��4�'�&a���ก&4�� 

(Ca(OH)2) (Gก:8�&6:�6n�ก���'�	���"���8��� P�:�6�
ก����ก��%%
�67�P������	��ก���:���9������	���
	��� ���P�6�
ก������%
�����(�
�:�����Iก������67�����&�� (��	���"���8����ก������&6%�(5��
���������Iก
�����%��
�:��	����67��������	��ก�����"���Iก���������
���%�:ก����9���
�ก����
��"��ก!� 

3) �
�:���ก��ก������� (Carbonation shrinkage) 45���67�P���%�ก��� ก��4	���"��&���ก&4�� �
�
6n�ก���'�ก�" �	��4�'�&a���ก&4�� (Ca(OH)2) ��':������'��������� �ก��%�กก��������""����  
��9�%�กก������
�:���	��4�'�4����ก�&a����  ( C-S-H ) �ก�����'�#
� (Dehydrate) 45�����P�:���ก��ก������� 

P����	���"���8�����#� 3 ก�J���# :�ก�J���� 2 	9� ก�J�����
�:��	����67�����:�	��ก�������%
�67�
ก�J�����67�P����'���	���	������	��ก�����ก����$� ����:�ก�J���� 1 	9�ก�J�����
�:��	��� �$����	��ก���
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���� %
�67�ก�J�����67�P������	���	������	��ก��� �'���&�กI�� :�ก�J����	��ก�����������Iก 	���
"���8���%
��P����'��กก���P������&��%�กก����	��� �$� 

 
*b�������$�N�!-�ก���ก�"��������a��� 

1) 	���89#���� ��K������ก�Q ������&���K�"�'&6�������������� 	���89#���� ��K����&��89#���
����
�ก��&6%
�
�:���ก��	���"���8����$���� 

2) 6����Jก��4	���"��&���ก&4��:���ก�Q��กกI%
�
�:��ก���ก��	���"���8�����ก 
3) �$J��G���G�กI%
�
�:��6n�ก���'�	���"���8����
�����&6��I� 
4) 	��� �$����	��ก��� 	��ก��������	����5"�#
���
� %
�ก��	���"���8���&����I� 
5) ก��:8����6�4)4���"��8��� %
�
�:���ก��	���"���8�����ก�5#�(��:8�:�6����J�����ก�ก��&6 

 
ก��*c�
ก��ก���ก�"��������a��� 

1) ��ก�"":��	��ก�����	��� �$���
�  �8�� :8�6����J�#
����' ����������#
����6G�4��������
 �  
��9�:8�����$������I�8������� (Filler) �8�� 4���ก�sG� %
8��':��	��ก����������ก���ก��	���"���8������� 

2) "��	��ก���:���� ก��"��	��ก���:��'���5#�%
�
�:��	��ก���"����JP����
:ก��P��	��ก�����	���
�5"�#
����5#� 

3) �
����"ก��6m��ก��ก���ก������������Iก 	����ก�""	��ก����$�����Iก�����:������5#�  
(�����"���)	����������ก����%
�'G�:�����
����������	���"���8����$���� 
 
2.4.4 ก���ก�"#��$��
���%ก�#��$`"����,�"� 
 
ก�,ก��
ก��$����,�"�M����ก��!
��ก���ก�"#��$��
���%ก�#��$��+��
��ก���,�"� 
 	��&����67������$��5������
�:���ก��ก��ก��ก����������Iก�����&�� )�'��������	��&��� (Chloride 
ions) �67����ก������
�:���ก��	����67��������	��ก������6m��ก�����Iก�����&��:���ก���������� ��
����(5�%$�
��ก!����� (�����#
���
��ก4��%�� �'� � กI%
�
�:�����Iก�ก������&�� 
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��-
���$���
���,�"� 
 	��&�����%���'G�:�	��ก������ �8�� ���'G�:��#
����:8�P��	��ก��� ��� ���' ()�'�b �
�'���'��� :�
���'%�ก�����:ก���
��) ��9��#
�'�P��	��ก���"��8��� �8�� �	��4�'�	��&��� (CaCl2) �����ก���'G�:��������
ก��ก����� �'���&�กI��� &����ก��ก
��������D��&���
����"6����J	��&������'����"&��:�	��ก����� (���. 
1014 - 40) ���6�������	��&������ก�
�"���	�����������	��ก�����#� ������ก%
��%�ก��'��ก
	��ก���:�8���:8���� �8�� %�ก�#
��
�� %�ก��� ��9�%�ก�ก�9����:8�����
��'�#
���I�:�6�
��Q�������ก�Q
���� (De-icing salt) 45��	��&�����%�����G�	��ก���&��)�'��K� ������&6��# 

1)  ก��45�P�������&6:�	��ก��������������#
������	��&��� (Capillary suction) 
2)  ก��� �������������	��&��� (Chloride ions) %�ก��'��ก�����	������������"	��&����G�ก���

��':����	��ก���  
3)  ก��45�P�������&6:�	��ก�������#
������	��&��� )�'����������#
� 
 
)�'����&6������������	��&��� �����P�ก�
�"���)	�������	��ก�����#���%�ก�#
��
�� �
����"

	��ก�������8��'G�:��#
��
������������#� (5����	��&��������(45�� ��P�������&6:�	��ก���&���� ���(��&����
��ก4��%� ก���ก������������Iก�����กI&�������(�ก���5#�&�� %5�&���67�6������ก 

	�������'����%
�ก��ก��ก��ก����������Iก�������ก����$� ��ก ":�"����J	�9����
�
����#
�  (Splash 
zone) ��������67�"����J"��'�ก�Q�
�� (Atmospheric zone) ��
"����J�#
��5#��#
��� (Tidal zone) ����
"����J:���#
��
�� (Submerged zone) %
��	�������'����ก��ก��ก�������Iก��������'��ก 

:�"����J:���#
��
��	�������'����ก���ก������������Iก����������' ��9���%�ก	�������������
��ก4��%����' ��
�����ก��� �������ก4��%�����&6:�	��ก�����
���ก ��9���%�ก8���������':�	��ก��� �67�
8�����������������'�#
� 45����ก4��%��
��'�#
�&�����'��ก �
�:�������ก��� ���ก���5#����' 

(5�������6����J��ก4��%���ก :�"����J�#
��5#��#
��� ���ก���ก������กI(Gก%
�ก�� )�'�����ก��� �������
�
�����ก4��%� P���8��������������������'�#
����	��ก���:�8������	��ก����6�'ก 

:�ก�J������� �6�'ก���"������#� �#
��
��%
�����G�	��ก����������)�' Absorption ��9� Capillary 
suction %�ก�
����	��ก����'G�:���� ������� (Saturated) ��9����� ��'��ก�6���'��67����� �#
����P��	��ก���กI
%
�
��'��ก&6 ��#�&�����	��"�ก�9� ��9���'G�:���� �6�'ก��ก 	�������������	��&������:ก��P��กI%
�G��5#� 
�����#���������	��&��� (Chloride ions) 45����	�����������G� ���"����JP�� %
45������G���':�)�'ก��� �� 45��
:�����
��"���ก���6�'ก��
ก������ %
�
�:��	��&���"����J:ก��P����	�����������G��5#���9��'� ��
%
����
&6�G���':�	��ก�����
�G�"����J���Iก�������ก�5#� )�'6ก������	��ก���%
�6�'ก (Saturated) &����I� ���%
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����&��8��ก�����ก ��
��':����	��ก�������8��'G�:��#
��
����������%5�8��ก���ก������&6���	��&���)�'
ก���6�'ก���"����)�'�#
��
�� 

ก���	�9�����������������	��&���&6:�	��ก�����#�%
�5#��'G�ก�"�
'
���������� �6�'ก��
���� 
45���5#��'G�ก�"�(�������
��� ������� �8�� �$J��G�� 	���89#� ก��&������#
��
�� ��Q����� ��Q���
��������'� ��
ก��:8�������)	������� �67���� �
�:��:�)	����������'�ก�� ����
������%6�
�"ก�"����

�6�'ก��
����&��&�����9��ก�� )�'����&6����	��ก��������� �������ก������ �6�'ก��ก%
����:����������
	��&��������G�	��ก���&����I��5#� �����#�	��ก������(Gก�#
��
���67�"��	��#� (8����������) %
��)�ก���ก��6����
ก��ก��ก����������Iก����� ��กก���	��ก������6�
�"ก�"����
8���������#� ก��ก��ก����%
������5#�กI�����9�� 
6����J��������	��&��� (Chloride ions) ����ก ����P��������Iก����� (Threshold content of chloride ions) 
45��:��	��	����67��������	��ก�������%�(5��
��"��ก!� 
 
#L�����
���,�"�M����ก��! 
 	��&�������'G�:�	��ก�����#� %
��	��&���"���������(Gก%�"'5� (Fixed chloride) )�'ก�&ก ���&6��#  

1) Chemical Binding 	��&���"������%
(Gก%�")�'P�P������6n�ก���'�&a���8��� 
 �8�� P�P������ C3A ��
 C4AF :��G6��� 3Cao.Al2O3.CaCl2.10H2O (Fridel�s salt) ��9� 
3CaO.Fe2O3.CaCl2.10H2O (Calcium chloroferrite) ��9��������'G�:�)	����������P���P����6n�ก��'�&a
���8��� 

2) Physical Binding 	��&���"�����������((Gก'5�&�����'������ก�'��  (Surface Force) &��"�P��
���P�P���&a���8��� �8�� C-S-H ��
C-A-H �67���� ��ก��#�'�������((Gก'5��'G�"�P���������$����67������I����
&����6n�ก���'� �8�� ������ ��9� P��$�����&�����' (5����%
�67�6����J���'��กกI��� 

	��&����������&��(Gก%�"'5����'ก��� 	��&�������
 (Free chloride) 45��%
����� �67�����
��'�'G�:��#
�
����'G�:�8����������	��ก��� (Pore solution) 	��&�������
��#�67��������	��&�����������(� ������&6'��
	��ก��������	�������������	��&�������
��
�ก��� ��
�67���������
�:��	����67�����:�	��ก������� �����#�
(�������(%�"'5�	��&���&���67�%
������ก กI%
�����('9�����ก���ก������:����Iก�������ก&6&�� 

 
ก���d��$�ef���
���$���$�����
���,�"������HMก��N�����#�$N�#ก��#��

�"���$���,�"� 
 	�������������	��&���"����JP�����	��ก���������P��ก�"�����������	��&��� �8�� �
���67�
������� %
��	�������������	��&���:�����
��'����'G�:�8����������	��ก����G�ก���	�������������	��
&���:������������&�� 6��กnก��J���#���'ก��� Chloride condensation 45���ก��&��:� 2 ��ก^J
�����# 
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1) :�ก�J��������
�6�'ก���"�������'�#
��
�� :��J
���"����JP�����	��ก������� 	��ก���%

�G����'�b �
�#
�45��%
�
��'��ก%�กP��	��ก��� ��#��ก�9�&��:�"����JP��	��ก���������� ��� �	��ก��������G�
����
��������6�'ก �#
��ก�9�%
45�����&6:�	��ก����'��������I� ��9������
�6�'ก���"�����
�����&6���'�
��" กI%
�
�:��	�������������	��&���:�"����JP�����	��ก����G�ก���:������������&�� 

2) :�ก�J��������
�6�'ก��������:��#
��
����9��#
�:�����������ก�9� :�ก�J���#	��&���:������������
�����((Gก�5�����&6:�8����������	��ก���&�����'������6�
%$&ssm� ��9���%�กP�����8�������:�	��ก���45��
��ก%
�67�P�P������&a���8��� �8�� �	��4�'�4����ก�&a���� (C-S-H) %
��	$J��"������Q�ก'�&ssm��67�"�ก45��
�����(�5�	��&���:������������45����6�
%$�67��"����&6&�� �'���&�กI��:���� ������������������6�'ก
�������� (5����	��&���%
����&6:�	��ก���&����ก��กกI��ก&���67�������'������Iก����� ��9���%�ก&����
��ก4��%�� �'� �:�ก���ก������ 'ก����������:�"����Jก�"	��ก���%
���������������
����&�����' �8�� 
"����JP����� 45��	��&����������&6��%� ������&6�G�"����J��������(����&�� �
�:��6����J	��&���:�	��ก���
"����JP���������ก�5#� ��
:�"����JP�����45������ก4��%���ก� �'� � %5���%�
� �:��)	�������"����JP�����
�ก������:����Iก�����&�� 
 
ก��*c�
ก��ก���ก�"#��$��
���%ก�#��$��+��
��ก���,�"� 
 ก��6m��ก��ก���ก������)�'ก��6��"6�$�	$J�� ���	��ก�����
���Iก����� 

1)  ��ก�""��
:8�	��ก��������	���45��#
���
���ก� 	��ก��������	���45��#
���
�%
�
�:��	��&���� ��
����&6:�	��ก���&��'�ก ��9���%�ก	��������(:�ก��� ��%
���'�� 45��%
ก�
�
�&��)�' ก��:8�6����J�#
�:�
	��ก������' ก��������������#
����6G�4������ ก��:8����6�
��� Filler � 9��� ���	����5"�#
� �8�� 4���ก�sG� 
ก��:8����6�4)4���:�6����J�������
��  

2)  :8�����	�9�"P��	��ก��� �8�� Epoxy �67���� �����ก����	�� � 
3)  :8����P��	��ก���"��8���  �8�� Calcium ��9� Sodium nitrite ��������(8��'�
�:��6n�ก���'��


)���	 (Anodic) ��#��ก��'�ก�5#� 
4) :8����Iก��������&���67����� ��9��	�9�"P�����Iก����� ����67���K��������	�� ����������
��ก

6�
ก����5��	9� ������ก�""	��ก���&��:����ก���� � ��
��'��ก����%
�67�"����J���	��&��������(����&6
:�	��ก���&�����'����$� &�����%
�67�ก����ก����%�กก����"�����9�%�ก6�����9��� �8��ก������� ��9�(��
���ก����'�&��&��กI����	�"	$�	���ก���������'��ก����:����Iก����$���������
�&�� 
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2.5 
�����������ก�������
 
2.5.1 
�����������ก�������
ก�����ก��!�#��$���%กN#$�#��M����%ก 

*��ag� �)���%
 
����hL� L���i�� (di. 2547) ��'������ก��:8�����:'�
	����ก��
����:'���Iก�67�
���P��� ���:�	��ก��� 8��'�
�:��ก
������"���������	��	��ก�����������Iก��กก���	��	��ก������&��:8�
���P��� �����9��:8�6����J���Iก�������':�	��	��ก�������ก�� [5] 
 
 �L������ L)a�� 
��#I�#��_�j �$�����a� (di. 2548) ��'������ ��9��:8�6����J���Iก��������ก:�	��
	��ก�����������Iก����ก�� ก��:8�����:'���Iก ����:'�ก�� ��
����:'�
	����ก P��:�����P��	��ก��� 8��'
:��ก
������"���������	��	��ก�����������Iก���P������:'��	���G�ก���	��	��ก�����������Iก���&��P������:' 
 
 Altun etal. (2005) ก����&�����	��ก������P������:'���Iก��ก
������"����G��$�� ����5#� 45����$6���
����P������:'���Iก ��� 30 kg/m3 ��ก�������P������:'���Iก ��� 60 kg/m3 � ��
 1.ก������Bending moment 
��
ก�� Crack ��ก��� 2.	��������(:�ก����" Bending moment � ����5#� ��
 3. 	�������'�� ����5#���9�����'"
ก�"	��	��ก������&��P������:'���Iก [6] 
 

2.5.2 
�����������ก�������
ก�����,�"� 
Mangat  and Gurusamy (1987) ��'������ 	���ก���������'��ก�������'��:������ก�" 0.2 ��������� 

45���67������� �:%�
����"	��ก��������������'����:'������������
�ก�������ก�� 	��������'�����
�
��
����"
	��ก��������������'����:'���Iก �����(8��':��	���ก���������'��ก���� �����'�� %�กก������ก���':��
ก������"��':������
��������
�� [7] 
 
 Granju, and Balouch (2003) ��'��������ก��ก��ก�������	��ก��������������'����:'���Iก� �'�
��Iก���' ��
	��������(:�ก����"�����������ก��ก��ก��ก�����G��5#� [8]  
 
 D.C. and Williamson  (1977) ��'������&�������(	�"	$�ก���ก��	���ก���������' ��ก����:����
������Iกก��� 0.01 ��#� (0.25 ���������)&�� ��#���#��9���%�ก	���ก�������8������%
:���#
��
��P�������&6�
�
6n�ก���'�ก��ก����ก�"����:'���Iก45���67�P������9���:���ก��ก����ก����&�� :�������ก����������:'%
�67�P��
�
:���ก��ก����ก�������ก������ก�5#� 45���67�P�:���ก��ก��ก��ก���������'����5#� ก��45�P��������ก�Q����&6'��
	��ก������P������:'���Iก����ก�" 65% 45���67���� ������%������(Gก "����#
��	I�:�K���8��� [9] 
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 Ashour and Wafa  (1993) ��'������	��	��ก�����������Iก���P������:'���Iก 6����J����:'����ก��
��
�
�������"� 9��Q5ก^� !��ก���ก����ก���� 	�����������	��	��ก���  "�������:'���Iก ��P��
�
:��ก
����� ����5#� 	��������� ����5#� ��
	����ก
�����������ก�������G��5#� [10] 
 
 Bayasi and Zeng (1993) ��'������	$J��"������	��ก�����������Iก���P�� Polypropylene fiber  ��	��
ก��'$"��� ก
������"������  !��ก���ก����ก���� 	��������������6�
�
 ��
	��������(:�ก��45�P���
���	��&��� � ����5#���9�����'"ก�"	��ก�����������Iก���&��P�� Polypropylene  fiber [11] 
 

Singh etal.  (2006) ��'������	��ก��������������'����:'���Iก (SFRC) 45��������P����� ����:'
���Iก 1.0% ,1.5% ��
 2.0% ���6������ P�ก�����������:����I����	������ ��K���� ����'��� ก�" cycle 
of failure 6�
���K��� ������$��������P������:' 1.0%  45��ก�����������P�������ก����ก����# �
�:�������(
�������ก���5#���� 9���
���'ก
������"������������	��ก��������������'����:'���Iก &�� [12] 

 
 Mangat and Gurusamy (1988) ��'����������:'���Iก���(Gก�����&6:�	��ก���'��	���� ���� ��ก��
ก��ก�����ก���5#��67�"����Jก���� �������ก���5#��67�%$��:�����:'���Iก����ก��ก��ก��ก���� ���&��&��45�P�������
&6:�	��ก��� ก
������"������� ����5#� ��
ก
������"������� ����5#� [13] 
  
 Mangat and Gurusamy (1987) ��'������	��&��������	���������� 0.4% &�������(�
�������'ก�"
	��ก��������������'����:'���Iก&�� [14] 
 
 #I�a�� #I�_�_��$$� (di. 2549) ��'������ ก��P������:'��:�	��ก�����P��
�:��	$J��"���:�����
ก���������ก��45�P������	��ก�����
��� ��
'�� "���ก��P������:'���Iก:�6����J 0.5% )�'6��������P�
�
�:��	��ก�����	��������(:�ก���������ก��45�P�����ก���ก��P������:'���Iก:�6����J 1.0% )�'
6������ [15] 
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����� 3 

  
 

��	
���
ก����������ก���
��� 
 
3.1 ��	
���������ก���
��� 

 
1. ���	
���
� (Cement) 

 ���	
���
��
����������	
���
�����
� �!���"�#�$�%�& (Ordinary Portland cement) 1!2������	
���
�
����
� �!�
�3��3&��ก3�$ 5�
67�253&�68&$�! 
 

2. ��32 (Fine aggregate) 
 ��32�
������<���32=ก��>6&$76!� =?�
 �@3ก3��!A�= Sieve Analysis � �7F=753 ��32�
��@3�3��� 

��<���32�
��
G�3!� "!
 A3�3�H���IA����ก�

J!�� 2 
 

3. $K� (Coarse aggregate) 
 $K��
������<�$K���� (Limestone) �@3ก3��!A�= Sieve Analysis � �7F=753 �
G�3!� "J�5!
 >%&
��&

�6!�2กG�3!G�&$K��
5 "G�3!��ก>3กก6� >3ก�68�>%&�@3$K��
5 "G�3!�3IA�ก6��$�J!�G�3!� "�
�!
 >%&>"
�@3J����IA����ก�

J!� 

 
4. �8@3 (Water) 

 �8@3�
����IA����ก�

����8@3��"�3�
�����?�1#� #32��$��&�OK=6
Kก3����ก�

� "76A!? #3�7K�3
7KP7ก���12Q3 �R"7KP7ก���P3A
�� �$37K�23 62=��F3 
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5. �A���2 (Fiber) 
 �A���2�
������ก3�IA��FK�������ก�

 ��� �A���2�$ Uก (Steel fiber) 1!2�
�32 "��
2!� "�?RA�=6
K

G�&�A���2!6&�
8 
 �A���2�$ Uก�
�������6
�3A57�IA�G�&���ก�

����68&�
8 I K
1!2 =�KW6� !�3�Kก	� (Dramix) �
���� 

��
2ก753 ZRC-65/35-BN` !6&�A!&������
� 3.1 
 

 
 

                 ��
��� 3.1  6กWR"G�&�A���2�$ Uก (Steel fiber) 
 

RC-65/35-BN �
8 ��<� 7!�A���2�$ Uก�
!�2U� �
��K�3R�3��=��
�@3 �
�� 32�68&A�&G�3&$6ก&� � "�
ก37
2%! 7!�
5 "�A���
��2�5��ก ?5� 1!2�
G�3!�A��I53�P��2�ก 3& (Diameter) ��53ก6= 0.55 �K  K��
� �53
67� G 35 �
�
��3กO������ $�32H%& �73�237G�& 7!�A���2�$ Uก �
$�572��<��K  K��
� � "�53
67� G 65 $�32H%& �53
�6
�3A57������& (Aspect ratio) 	%�&ก3��=5&�68���"AK�QK#3FG�&�A���2 $3J!�>3ก�6
�3A57��"$753&�73�237
ก6=�A��I53�P��2�ก 3&G�& 7!�A���2 	%�&���
��
8�6
�3A57������&�
�53��53ก6= 64 �
5�����&>3ก��"AK�QK#3FG�&
 7!�A���2>"�=5&J!���<��68� 45 65 � " 80  7!�A���2�$ Uก  ZRC-65/35-BN`   >%&H�ก>6!�$��2�5���68� 65 �A���2
�$ Uก��K!�
8���8@3$�6ก 1.0 กK1 ก�6��68�>"�
 7!�A���2�$ Uก ��"�3R 14,500 �K8� � "�
ก@3 6&�6=��&!%&���2
�
�A?! ��53ก6= 11,213 กK1 ก�6�
5�
3�3&�	�
K��
� 
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6. �$ Uก�A�K� (Reinforcing steel) 
 �$ Uก�A�K��
��������ก3��!A�=�3����ก�

 ��<��$ UกG�����2 (= A.) �68��?R#3F SD40 G�3!

�A��I53P��2�ก 3& 12 � " 16 �K  K��
� � "�$ Uกก � (= A.) �68��?R#3F SR24 G�3!�A��I53P��2�ก 3& 6 
�K  K��
� 
 

3.2 ��
ก������ �����ก���
��� 

 
1) �==$ 5�
67�253&  

�==$ 5�
67�253&�
������ก3�P%กW3 ��"ก�=!�72 
1.1) �==$ 5��3����ก�

�A�K��$ Uก G�3! 15 x 30 x 180 �	�
K��
� �A!&������
� 3.2 

 

��
��� 3.2 �==$ 5��3����ก�

�A�K��$ Uก 
  

 
1.2) �==$ 5�
67�253&�3�G�3! 10 x 10 x 50 �	�
K��
� �A!&������
� 3.3 

 

��
��� 3.3 �==$ 5�
67�253&�3�G�3! 10 x 10 x 50 �	�
K��
� 
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1.3) �==$ 5�
67�253&��&ก�"=�กG�3!�A��I53P��2�ก 3& (Diameter) 10 �	�
K��
� � "A�& 
(Height) 20 �	�
K��
� �A!&������
� 3.4 

 

��
��� 3.4 �==$ 5���&ก�"=�ก G�3!�A��I53P��2�ก 3& 10 �	�
K��
� � "A�& 20 �	�
K��
� 
   
  1.4) �==$ 5�
67�253&��&ก�"=�กG�3!�A��I53P��2�ก 3& (Diameter) 15 �	�
K��
� � "A�& 
(Height) 30 �	�
K��
� �A!&������
� 3.5 
 

 
 

��
��� 3.5 �==$ 5�
67�253&��&ก�"=�ก G�3!�A��I53P��2�ก 3 15 �	�
K��
� � "A�& 30 �	�
K��
� 
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2 ) ������&IA����ก�

 (Concrete mixer)   
������&IA����ก�

 �A!&������
� 3.6 

 
 

��
��� 3.6 ������&IA����ก�

 
 
3 ) ������&�!A�=���ก��"A&�� (Universal testing machine) G�3! 150 
6�  

������&�!A�=���ก��"A&��G�3! 150 
6� �A!&������
� 3.7 
           

       
 

 ��
��� 3.7  6กWR"G�&������&�!A�=���ก��"A&��G�3! 150 
6�  
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4 ) ������&�!A�=ก@3 6&�6! (Compression testing machine)  
������&�!A�=ก@3 6&�6!G�3! 300 
6� �A!&������
� 3.8 

   

    
 

��
��� 3.8 ������&�!A�=ก@3 6&�6! 
 
5) ������&�!A�=���ก��"A&�� (Universal testing machine) G�3! 30 
6�  

������&�!A�=���ก��"A&��G�3! 30 
6� �A!&������
� 3.9 
 

 
 

 ��
��� 3.9 ������&�!A�=���ก��"A&��G�3! 30 
6� 
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6 ) ������&�6�&�8@3$�6ก�==!K>K
�  (Digital balance)  
������&�6�&�8@3$�6ก�==!K>K
�  �A!&������
� 3.10 
 

    
 

��
��� 3.10 ������&�6�&�8@3$�6ก�==!K>K
�  
 
7 ) 1
j"�G253���ก�

 (Vibrating table)  

1
j"�G253���ก�

 �A!&������
� 3.11 
 

    
 

��
��� 3.11 1
j"�G253���ก�
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8 ) ������&=6��%กG����  ZPortable data logger �?5� TDS-303`   
������&=6��%กG����  ZPortable data logger �?5� TDS-303` �A!&������
� 3.12 
 

 
 

��
��� 3.12 ������&=6��%กG����  ZPortable data logger �?5� TDS-303` 
 
 
9 ) �?�ก�R�76!ก3��� ����
67 (Displacement transducer)  

�?�ก�R�76!ก3��� ����
67  �A!&!6&����
� 3.13 
 

 
 

��
��� 3.13 �?�ก�R�76!ก3��� ����
67 
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10) �?�ก�R�76!$�572ก3�2�!$!G�&�$ Uก�A�K� (Electrical strain gauge of steel) 
�?�ก�R�76!$�572ก3�2�!$!G�&�$ Uก�A�K� �A!&!6&����
� 3.14 
 

  
 

��
��� 3.14 �?�ก�R�76!$�572ก3�2�!$!G�&�$ Uก�A�K� 
 

 
11) �?�ก�R�76!$�572ก3�$!
67G�&���ก�

 (Electrical strain gauge of concrete) 

�?�ก�R�76!$�572ก3�$!
67G�&���ก�

 �A!&!6&����
� 3.15 
 

 
 

��
��� 3.15 �?�ก�R�76!$�572ก3�$!
67G�&���ก�

 
 

12) I K
#6Ro�ก6�	%�1F K�����A6&���3"$� 
�
�?RA�=6
K��ก3��p�&ก6�ก3�	%��
��
 6กWR"FK�PW!
ก753	K K1��1!2�6�7J� 

	%�&�@3�3�����<�76A!?��ก3�$5�$?���?�ก�R�76!ก3��A
2���G�&�$ Uก�A�K� (Electrical strain gauge of steel) �F���
�p�&ก6��8@3 !6&����
� 3.16 
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��
��� 3.16 I K
#6Ro�ก6�	%�1F K�����A6&���3"$�  

 
 
13) ก37
K!�?�ก�R�76!$�572ก3�2�!$!G�&�$ Uก�A�K� !6&����
� 3.17 
 

 
 

��
��� 3.17 ก37
K!�?�ก�R�76!$�572ก3�2�!$!G�&�$ Uก�A�K� 
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3.3 (���)*����������ก���
	�� 

 
��ก3�P%กW3ก@3 6&�6=��&!6!����3��
��
G�3!$��3
6! 15x27.5 �	�
K��
� � "237 180 �	�
K��
� 1!2

��ก3��!A�=�
8J!��@3ก3��A�K�76A!?�A���2�$ Uก�
�����A�K�ก@3 6&#32���3����ก�

1!2����$ UกG�����2 �68�
�?R#3F SD 40 G�3! DB12� "DB16 ��<�76A!?�A�K�$ 6ก � "����$ Uกก � �68��?R#3F SR 24 RB 6  ��<��$ Uก
� �ก1!2�
�"2"$53&�"$753&�$ Uก� �ก ��53ก6= 10 �	�
K��
� ��ก3�$ 5��3����ก�

�
8ก@3$�!�$��3�
���ก�

�
8�
�"2"$?��G�&���ก�

��53ก6= 2.5 �	�
K��
�� " 1.5 �	�
K��
� 1!2>"�@3ก3�$ 5�
67�253&�F����@3
ก3��!A�= >@3�7��68&$�! 7 
67�253& ������32?��= 28 76� >%&�@3
67�253&J��I�KqA#3F�7! ���
3��
�ก@3$�!
J7�  
 
(������� 3.1 A57�IA����ก�

�
������ก3�$ 5��3����ก�

�A�K��$ Uก�
�IA��A���2�$ Uก 

 

A57�IA����ก�

 (kg/m3) 
Mix id. Mix details 

���	
���
� �8@3 
��32 
(SSD) 

$K� 
(SSD) 

SP fiber 
w/c s/a 

% 
fiber 

C1 
Fcv= 240 ksc / 

No fiber 
304 167 909 1,024 1.52 - 0.55 0.47 - 

C2 
Fcv= 240 ksc / 

Fiber 0.5% 
304 167 909 1,024 1.52 39.25 0.55 0.47 0.5 

C3 
Fcv= 350 ksc / 

Fiber 0.5% 
405 152 851 957 2.03 39.25 0.38 0.47 0.5 

 
>3ก
3�3&�
� 3.1 A57�IA�G�&���ก�

�
8 ��<�A57�IA��
����>�K&��ก3�$ 5��3����ก�

�A�K��$ Uก

IA��A���2�$ Uก �F��������ก3�P%กW3� "�!A�= �?RA�=6
K
53&xG�&�3����ก�

�A�K��$ UกIA��A���2�$ Uก 
��1��&&3��
8 
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(������� 3.2 �32 "��
2!�3�� "AK�&�7! ����
��I�Kq 
 

Beam no. % fiber f6c (kg/cm2) Covering (cm) 	?�@	�����
���A 

B1 - 300 2.0 ��5�8@3 
B2 0.5 300 2.0 ��5�8@3 

B3 - 300 2.0 ��*�BC�Dก�E�F��G�
� 5% 

B4 0.5 300 2.0 ��*�BC�Dก�E�F��G�
� 5% 

B5 0.5 300 1.5 ��*�BC�Dก�E�F��G�
� 5% 

B6 0.5 400 2.0 ��5�8@3 

B7 0.5 400 2.0 ��*�BC�Dก�E�F��G�
� 5% 

 
>3ก
3�3&�
� 3.2 �A!&�32 "��
2!�3�� "AK�&�7! ����
��I�Kq��&3�7K>62�
8 �F���P%กW3I ก�"�=G�&

�y>>62
53&x 
5�ก@3 6&�6=��&!6!G�&�3����ก�

�A�K��$ UกIA��A���2�$ Uก 
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F��ก��*A kscf '
c 240=  

  

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 
 

��
��� 3.18 �32 "��
2!$��3
6! �$ Uก�A�K� � "�A���2�$ UกG�&�3����ก�

�A�K��$ Uก��ก ?5� kscfc 240='  
 

15 cm 

27.5 cm RB6@0.1

2.0cm 

2DB16mm

2DB12mm

B1 

15 cm 

27.5 cm RB6@0.1

2.0cm 

2DB16mm

2DB12mm

 B2 

15 cm 

27.5 cm RB6@0.1

2.0cm 

2DB16mm

2DB12mm

 B3 

B5 

15 cm 

27.5 cm RB6@0.1

1.5cm 

2DB16mm

2DB12mm

15 cm 

27.5 cm RB6@0.1

2.0cm 

2DB16mm

2DB12mm

B4 
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F��ก��*A kscf '
c 350=  

 

 

  

 

 

 

 

 

 

 

��
��� 3.19 �32 "��
2!$��3
6! �$ Uก�A�K� � "�A���2�$ UกG�&�3����ก�

�A�K��$ Uก��ก ?5� kscfc 350='  

 

 

3.4 ��)��D��)
ก���
	�� 

3.4.1 ก���
	��กC����������
�
H��F��F��ก��(D	��ADI�Jก (Flexural strength test) 

7KQ
ก3��! �&�!A�= ก@3 6&�6=��&!6!G�&
67�253&���ก�

1!2��<��== Simple beam with  four-point 
bend test 

1. �32 "��
2!G�&�3����ก�

�A�K��$ Uก 
�3�
67�253&�
������ก3��!A�=�68� ��<��3����ก�

�A�K��$ Uก�
G�3!$��3
6! 15x27.5 �	�
K��
� 

237 180 �	�
K��
� ก3��A�K��$ Uก �A!&�32 "��
2! !6&����
� 3.18 � "����
� 3.19 
2. G68�
��ก3��!A�= 

 ก3��!A�=$3ก@3 6&�6=��&!6!G�&�3����ก�

�A�K��$ Uก ���7KQ
ก3��!A�=�== Simple beam with  
four-point bend test 
3��3
�|3� ASTM C 78 [10] !6&����
� 3.20 	%�&�
G68�
��ก3��!A�=!6&�
8 

2.1 
K!
68&>?!��&�6=�3�=���5��3��$ Uก 1!2�
�>?!�
���&�6=�3���<��== Roller support �
�I5�
�$ Uก� "���G37�2�5�"$753&�3�ก6=>?!�
���&�6=�3� �F����$�IK7A6�I6AG�&�3�ก6=>?!��&�6=��=A�K�1!2
 �!
�73�ก7�3&G�&�3� 
K!�G�3ก6=������&�!A�= Universal Testing Machine (UTM) 

15 cm 

27.5 cm RB6@0.10 

2.0cm 

2DB16mm

2DB12mm

 B7 

15 cm 

27.5 cm RB6@0.10 

2.0cm 

2DB16mm

2DB12mm

 B6 
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2.2 $3
@3�$�5&ก%�&ก 3&G�&�3��"$753&>?!��&�6=�68&A�& ก@3$�!�$��"2"$53&�"$753&>?!��&�6=
�3� (Gauge length) ��53ก6= 160 �	�
K��
� � "�=5&�"2"��ก��<�!6&����
� 3.20  

2.3 73&�3��!A�= &=���5���&�6= 1!2�$�
@3�$�5&�A��>?!��&�6=�3�
�&ก6=|3�G�&��5� 
2.4 ��6=�$��?�ก�R�ก!!�3�=��373&=�ก���
67�253&�$�
�&ก6=�A���
�G
!J7� 
2.5 ��K���!A�=1!2ก@3$�!�$�ก!
67�253&�3����6
�3 2 �K  K��
�/�3�
 
2.6 ก!�!A�=>�ก�"�6�&
67�253&7K=6
K 
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��
��� 3.20 ก3��!A�=ก@3 6&�6=��&!6!G�&�3����ก�

�A�K��$ Uก 

�������� 

BMD 

 PL / 8 

SFD 

P/2 

- P/2 

Load P 

L = 1.60 m 

L = 1.80 m 

L/4 L/4 L/2 
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3. ก3�76!��&�
�ก�"�@3
5��3� 
 ��&�
�ก�"�@3
5��3����ก�

�A�K��$ Uก���������& Universal Testing Machine ��<�
67�$�ก@3��K!��&

ก�"�@3
5��3� 	%�&A3�3�H�7=�?��6
�3ก3��$���&ก�"�@3��<��6
�3�� �����
�G�&$67ก! ���
��
8���ก3��7=�?�
�==�6
�3ก3��� �����
�G�&$67ก!��53ก6= 2 �K  K��
�
5��3�
  

4. ก3�76!ก3�1ก5&
67G�&�3� 
 ก3��!A�=��A57��
8��� �?�ก�R�76!ก3��� �����
� (Displacement transducer) >@3�7� 1 �?! 
K!
68&�
�

ก%�&ก 3&�"$753&>?!��&�6=�68&A�&!�3� 53&�3� �F���76!ก3�1ก5&
67�
�ก%�&ก 3&�3� �73� "��
2!G�&�?�ก�R�76!ก3�
�� �����
��
8 ��53ก6= 0.01 �K  K��
�   

5. ก3�76!$�572ก3�2�!$!
67G�&76A!?�A�K�ก@3 6&#32���3����ก�

�A�K��$ Uก 
 ��� Electrical - strain gauge ��ก3�76!�"2"ก3�2�!$!
67G�&�$ Uก�
��A�K�ก@3 6&#32���3����ก�

 

	%�&�?�ก�R��
8�
�73�237 10±5 �K  K��
� 
K!
68&�?�ก�R��
8=��$ Uก�
�����A�K�ก@3 6&�
�
@3�$�5&!�3� 53&� "!�3�=� 
!6&����
� 3.21 ก5��$ 5��3����ก�

�A�K��$ Uก !6&�68� Electrical - strain gauge �
8H�ก�y&�2�5���3����ก�

��
�"$753&ก3��!A�=
53& x �
��กK!G%8�  �73� "��
2!G�& Electrical - strain gauge  ��53ก6= 1 J����� 

Electrical strain guage

RB 6 @ 0.10 m

 
 

  
 
 
 
 
 

                                                                                   

��
��� 3.21 
@3�$�5&ก3�
K!
68& Electrical - strain gauge =��$ Uก�A�K����3����ก�

�A�K��$ Uก 
 
 
 

Electrical strain gauge: SG 

SG3 

SG1 SG2 
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6. ก3�76!$�572ก3�$!
67�
�IK7!�3�=�G�&�3����ก�

�A�K��$ Uก 
 ��� Electrical - strain gauge ��K!
K!=�IK7���ก�

 ��ก3�76!$�572ก3�$!
67�
�IK7!�3�=�G�&�3�

���ก�

 1!2
K!�?�ก�R��
8�
�IK7!�3�=�G�&���ก�

=�K�7Rก%�&ก 3&�3�	%�&�?�ก�R��
8�
�73�237 20±5 
�K  K��
� �73� "��
2!G�& Electrical - strain gauge ��53ก6= 1 J����� 1!2�

@3�$�5&��ก3�
K!
68& Electrical - 
strain gauge !6&�A!&������
� 3.22 
 

 
 

 

 

 

 

 

 

��
��� 3.22 
@3�$�5&ก3�
K!
68& Electrical - strain gauge =�IK7���ก�

�F���76!$�572ก3�$!
67G�&���ก�

 
 

7. ก3�=6��%กG����  
 ก3�=6��%กG����  ��&�
�ก�"�@3=��3� ก3�1ก5&
67G�&�3�� "$�572ก3�2�!$!
67
53&x ��� Portable 

data logger �?5� TDS-303 ��ก3��กU=G����  G���� >3ก������& Data logger A3�3�H=6��%ก���I5�!KAก� (Floppy 
disk) G�&������& $���FK�F���ก�3>3ก Data logger ������& Data logger A3�3�H
68&�$�=6��%กG���� �==�6
1��6
K 
$��� �==�7=�?�!�72
���&กUJ!� 	%�&��ก3��!A�=�
8���ก3�FK�F���ก�3 1!2ก3��7=�?�!�72
���& 
 

 

 

 

 

 

Electrical strain gauge 

�3����ก�

�A�K��$ Uก 

15 cm 

27.5 cm 
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3.4.2 ก���
	��กC����H��F��ก��( 

1. ก3��!A�=ก@3 6&�6=��&�6! )( '
cf  � "ก@3 6&�6=��&!%&�==I53	
ก )( tf  G�&���ก�

 

 �@3ก3�$ 5�
67�253&���ก�

 1!2����==$ 5� !6&�
8 

1.1) �==$ 5�
67�253&���ก�

��&ก�"=�กG�3! Ø 10 cm x 20 cm �F����!A�=$3
'

cf  !6&����
� 3.23 
>@3�7� 3  �ก �!A�=������32?��= 28 76�  
>@3�7� 3  �ก �!A�= R 76��
��@3ก3��!A�=�3� 
 

1.2) �==
67�253&���ก�

��&ก�"=�กG�3! Ø 10 cm x 20 cm �F����!A�=$3 )( tf   
>@3�7� 3  �ก �!A�=������32?��= 28 76� 
>@3�7� 3  �ก �!A�= R 76��
��@3ก3��!A�=�3� 
 

2. �!A�=$3�531�!� 6A2�!$2?5�� "�6
�3A57��y7	�&A�  G�&���ก�


67�253& 
��&ก�"=�กG�3! Ø 15 cm x 30 cm   
>@3�7� 3  �ก �!A�=������32?��= 28 76� 
 

3. �!A�=$3�53ก@3 6&�6=��&!6! Fr G�&���ก�


67�253& !6&����
� 3.24 
����3��!A�=G�3! 10 x 10 x 50 cm  
>@3�7� 3 �3� �!A�=������32?��= 28 76� 

 

 

��
��� 3.23 ก3��!A�=ก@3 6&�6=��&�6! ( '
cf ) G�&
67�253&���ก�
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��
��� 3.24 ก3��!A�=ก@3 6&�6=��&!6! (f
r
) G�&
67�253&���ก�

 

 

3.5 H�B�(��ก���
	�� 

3.5.1 H�B�(��ก��D(��)A(���)*��F���
	�� 

1)  
6!�$ Uก DB φ  16 mm  , DB φ  12 mm G�3!�73�237 1.90 ��
� � " RBφ  6 mm  

G�3!�73�237 85cm � " 90 cm !6&����
� 3.25 

 
 

��
��� 3.25 ก3�
6!�$ Uก�A�K��F�������@3�3�
67�253&�!A�= 
 

2)  �@3ก3�!6!� 32G�&�$ Uก�A�K� 1!2�$ Uก�A�K�=� DB φ  12 mm �$�&� & � " DB12 �$�&�G%8�  


3� @3!6= !6&����
� 3.26 
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��
��� 3.26 ก3�!6!�$ Uก�A�K��F�������@3�3�
67�253&�!A�= 
 

3)  �@3ก3�!6!�$ Uก RBφ  6 mm �F��������<��$ Uก� �ก 1!2G�3!�73�237 85 cm >"���ก6=�"2"$?��

�$ Uก�A�K� (Covering depth) 2.0 cm � "G�3!�73�237 90 cm ���ก6=�"2"$?���$ Uก�A�K�1.5 cm 

4)  �@3ก3�
K! Strain gauge �
��$ Uก�A�K�=�� "�$ Uก�A�K� 53& (�32 "��
2!!6&�A!&G�3&
��) 

5)  ��"ก�=�$ Uก�A�K�=�� "�$ Uก�A�K� 53&�G�3ก6=�$ Uก� �ก �F��������<��3��!A�= !6&����
� 3.27 

 
 

��
���  3.27 ก3���"ก�=�3�
67�253&�!A�= 
 

6)  �@3ก3�
K! �ก����F����$�J!��"2"$?���$ Uก�A�K��
�
��&ก3� !6&����
� 3.28  
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��
��� 3.28 ก3�
K! �ก����F����$�J!��"2"$?���$ Uก�A�K��
�
��&ก3� 
 

7)  76!�73�
�3��3�G�& Strain gauge1!2�73�
�3��3��
�J!�
��&�2�5���57&  119.8± 0.5Ω  

8)  �@3ก3�
K!A57�$�A@3$�6=2ก�3� 1!2����$ Uก RBφ  9 mm  

9)  �@3�==
67�253&�3��A5 &���==$ 5�
67�253&�3��!A�= !6&����
� 3.29 

 
 

��
��� 3.29 ก3��@3�3�
67�253&�
���"ก�=�A�U>�A5 &���==$ 5��3��!A�= 
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3.5.2 H�B�(��ก��D(��)A	*��W	AF��ก��(������I�*�(���)*�� 

1) �@3�7RA57�IA�G�&���ก�

�
�����@3�3��!A�= 

2)  �3&$K�� "��32�
����IA����ก�

�
�����@3�3��!A�=  

3) $3��K�3R�73���8�� "�53ก3�!�!	%�G�&��32� "$K��
�����!A�= !6&����
� 3.30 � " ����
� 3.31 

 

��
 3.30 ก3�$3�53 Absorption G�&��32�
������ก3�IA� 

 

 

 

��
��� 3.31 ก3��!A�= Cone Sand Test �F���$3�53 Absorption G�&��32�
������ก3��! �& 
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4) �6�& 
7& A57�IA��
�����@3ก3�IA� !6&����
� 3.32 

 

��
��� 3.32 �6�&
7&A57�IA��
����A@3$�6=�@3�3�
67�253&�
�����! �& 

 

3.5.3 H�B�(��ก��W	A���I�*�(���)*�� 

1)  �
�
2�
67�253&�==�!A�=ก@3 6&�6=��&�6! , ก@3 6&�6=��&!%& � "ก@3 6&�6=��&!6!  G�&���ก�

�
����

���3�
67�253&�!A�=  !6&����
� 3.33 � " ����
� 3.34 

 

��
��� 3.33 �==�!A�=ก@3 6&�6=��&�6!G�&���ก�

�
������ก3��! �& 
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��
 3.34 �==�!A�=ก@3 6&�6=��&!6!G�&���ก�

�
������ก3��! �& 

 

2)  �@3ก3�IA����ก�


3�A57�IA��
��@3�7RJ7� !6&����
� 3.35 

 

��
��� 3.35 ก3�IA����ก�

�
������ก3�$ 5��3�
67�253&�! �& 

 

3)  �@3���ก�

IA��3�@3ก3�$3�53ก3�2?=
67 !6&����
� 3.36 
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��
��� 3.36 ก3�$3�53ก3�2?=
67G�&���ก�

�
������ก3�$ 5��3�
67�253&�! �& 

 

4)  �@3���ก�

�
�IA�� �7�A5 &���==$ 5��3��!A�= F����>
8!�72������&>
8�G253���ก�

 !6&����
� 3.37 

 

��
��� 3.37 ก3�>
8�==$ 5��3�
67�253&�! �&!�72������&>
8�G253���ก�

 

 

5)  �@3���ก�

A57��
��$ ��$ 6&>3ก�A5���==$ 5��3��!A�=J��A5��
67�253&�!A�=ก@3 6&�6=

��&�6!,ก@3 6&�6=��&!%& 1!2�=5&��<� 3 �68� ก�"�?�& 25 ��68& / �68� !6&����
� 3.38 
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��
��� 3.38 ก3��กU=
67�253&���ก�

�F��������ก3��!A�=ก@3 6&�6=��&�
������ก3��! �& 

 

3.5.4 H�B�(��ก���*A(���)*��F��ก��(���F��F��ก��(D	��ADI�Jก 

1) �@3ก3�H�!�==$ 5���ก � "�@3�73�A"�3!�==$ 5� !6&����
� 3.39 

 

��
��� 3.39 ก3�H�!
67�253&�!A�=��ก>3ก�==$ 5� 

 

2) 
�7>A�=�==�3�� "
67�253&���ก�

753�
1F�&�กK!G%8�$���J�5 

3) =5�
67�253&�3����ก�

!�72ก�"A�= � "�@3
67�253&�!A�=J�=5��==G6&�8@3 ก3�=5�>"���

�7 3�68&AK8� 28 76� !6&����
� 3.40 � "����
� 3.41 
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��
��� 3.40 ก3�=5�
67�253&�3��!A�=!�72ก�"A�= 

 

 

��
��� 3.41 ก3�=5�
67�253&�!A�=�==G6&�8@3 

 

4) 76!�73�
�3��3�G�& Strain gauge !6&����
� 3.42 
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��
��� 3.42 ก3�76!�73�
�3��3�G�& Strain gauge $ 6&>3ก�ก"��ก>3ก�==$ 5��3� 

 

5) �@3�3���5 &��=5� $ 6&>3ก�
�=5���= 28 76� !6&����
� 3.43 

 

��
��� 3.43 =5�A@3$�6=��5�3����ก�

�
������ก3��! �& 

 

3.5.5 ก����*(���)*��F���
	�������*��
	�� 

 ��5�3� &��=5��!A�=�
��
A#37"�7! ���
53&ก6� 2 �== �����5��A#37"�7! ����ก ��� �J�!� 

(�73��G��G�� 5%) � "��5���8@3�� 53 1!2>"�@3�3� B3, B4, B5 � " B7  &��5��A#37"�7! ����ก ��� �J�!� 

(�73��G��G�� 5%) � "�@3�3� B1, B2 � " B6 ��5���8@3�� 53 !6&����
� 3.44 � " ����
� 3.45 
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��
��� 3.44 �3��!A�=�
���5��A#37"�7! ����ก ��� �J�!� 

 

 

��
��� 3.45 �3��!A�=�
���5���8@3�� 53 
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3.6 ����ก���C����D
X)ก	����I�� (Wet and dry cycle system) 

 

�
�������
����
�
��������
�

�������กก�
��������
�������� 220 V

ก�
���
���� 220 V
������������ !�- !�

�
������#$�%&��ก'�

ก�
������������ �
������

ก�
�������������(�����#)��

ก�
������������� !�������

 *+�����

%&��ก'�����

ก�
������������ �
������

ก�
�������������(�������ก

 *+�����#)��

 *+�������

 *+�������ก

�
��
�����
������
��
�����,��������� 5%

 
��
��� 3.46 �"==ก3��@3&3����2กA 6=�$�& (Wet and dry cycle system) 

 
FC������) 

 �"==�
8�@3G%8��F����$�ก3��@3&3�G�&�"== ���2กA 6=�$�& ��<��==�6
1��6
K >3ก�
�
��&��2J�� 5�2�8@3
>3กH6&�G�3A�5=5���5 A�=�8@3>3ก=5���5ก 6=G%8�J��กU==�H6& �"==�
8กU>"��2�7=�?���� �
5�F����
�>"J�5�$��กK!
�73��A
2$32ก6=�"== ��3
��&��2!�� �"== �253&���2 2 A6�!3$�
5���68& ก3��@3&3�G�&�"==�
8�
 2 =5�=5� 
1!2ก3��@3&3�G�& 2 =5��
8 >"�2ก��ก>3กก3��253&�KA�" �����&>3ก���ก 5�&�7=�?��2ก��ก>3กก6� ก3��@3&3�
G�&�"==�
8>"���ก3�
68&�7 3 �F����$��y��A�=�8@3�@3&3� �"==�
8>%&A3�3�H�
�>"�@3J���6=��?&�ก�JG �F������ก6=
1��&&3�����xJ!� 
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3.7 ก��FC����กC����������
�
���	?���(*��[ ?�)I���DW��\��] �̂ก�D
X)ก	����I�� ���BC�D
�*�����BC�Dก�E�F��

G�
� 

 
 ���������	
��
�	����	� 

1. ก@3 6&�6=��&�6!��" 62G�&���ก�

 ( '
cf ) �
�53��53ก6=ก@3 6&�6=��&�6!��" 62G�&���ก�

 R 76�

�!A�=�3����ก�

�A�K��$ Uก 
2. ��K�3R�A���2�$ Uก (Vf ) �
��K�3R�&�
� 
3. �6
�3A57��$ Uก�A�K� ( ρ ) �
�53 ! &�����&>3กก3��กK!A�K� $ 6&>3กก3���5�8@3�� 53� "�ก ��� �J�!� 
4. ก3�A�q�A
2$��3
6!�$ Uก�A�K� �กK!G%8� R >?!�
��$ Uก�กK!A�K� �
�A��I53�P��2�ก 3&�$ ���2�5 d ��53ก6��68&

A�&�A��G�&�3����ก�

�A�K��$ Uก 
 

 

 

 ก��
��A��@EB����I���(�
DI�JกD	��A���	�\D	�)G
 ^�กก��Dก�
	��A���G
�A�^�กก��FC����)���ก���^�กW�

ก���
	��F�� 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

d 

Trial ��� As �	
������� �!��
ก�#�$��%& �! BUU2 method 

Mn ��กก����ก����	
� 

1�
��� Mn �$�12�2#	!3��	!3ก�3��� Mn ���43%���#�ก���#541�� 

/��ก&� ��
/��ก&� 

��$01���234�$�/&��4�'ก���5��23�(6��2��  
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ก��I�
��A��F��G�
�H��F��F��ก��(D	��ADI�Jก ?�)I���DW��\DW��\��] �̂ก�D
X)ก	����I�� ���BC�Dก�E�

F��G�
� 
1. �@3ก3��>3"�3��
�����!A�= =�K�7R
@3�$�5&�ก �ก6=�$ Uก�A�K� 53& 5 >?! 1!2�� 
�2
3��73�237G�&

�3� �73� %ก>?! " 1 �	�
K��
� �F����กU=
67�253&I&���ก�

 
2. �>3"�
�
@3�$�5&>?!�!K�	8@3 �73� %ก>?! " 1 �	�
K��
� �@3�68&$�! 5 ��68& �F����กU=
67�253&I&���ก�

�
�

�73� %ก
53&x 
3. �@3I&���ก�

�
�J!�J�7K���3"$�$3�53 %� �J�!� ���
5 "�73� %ก��ก�3 
4. �@3�53 %� �J�!� �
�J!��A!&I ������==G�&ก�3� �F������
2=��
2=I �
�J!�>3ก�3����ก�

�A�K�

�$ Uก���
5 "
67 
3� @3!6=�73� %ก�
��@3ก3��>3" 
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����� 4 

��ก
����
����
����
��� 

 

4.1 ก���	
�	�
�
�	�
��ก���	
�	�
�
��

�������ก��
���ก��� 
 

ก����	
���
	
�� fc� (ksc) 

 

������ 4.1 ก����	
���
	
���
	�
�ก
�� 
 

ก����	
���
	��	 ft (ksc) 

 

������ 4.2 ก����	
���
	��	��������ก�
	�
�ก
�� 
 

  �ก
!"#�$ 4.1-4.2 *�+�� ก����	
���
	
���
	�
�ก
��,����,�กก+����� f�c #�$

ก���-+. ��/,����
0*1$,��2�0,3$
�4,04.�5607�8ก5��
�ก
�� #�2	��2ก����	
���
	��	��������ก�
	�
�ก
��ก857.��5�
��ก9:/0��6ก���.+6 0�3$
	 �ก04.�5607�8ก#�$
6!�5�4�+��4,;�+60*1$,ก����	
����/ก����	��	�
	�
�ก
��57.
4!	��2� 
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4.2 �	����� ��! ��
�"��
���ก��� 

 

 

������ 4.3 ก
�=�+�,4�,*��>?
/7+��	ก�
7���+��,��+�ก�ก��ก�
63���+��,��+�
��
	��+
6��	
�
�ก
�� 240 ksc 

 
��ก�
#�4
�#�$ 28 +�� ��+
6��	#�$ 1 (240 ksc) 
��
�4�+�"A+�
	4? ,���� 0.31 
   ��+
6��	#�$ 2 (240 ksc) 
��
�4�+�"A+�
	4? ,���� 0.48 
   ��+
6��	#�$ 3 (240 ksc) 
��
�4�+�"A+�
	4? ,���� 0.32 
                    ���0C��$6 0.37 
 
 �ก
!"#�$ 4.3 ���
��
�4�+�"A+�
	4?�
	��+
6��	�
�ก
��
6!�
/7+��	 0.31-0.48  
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������ 4.4 ก
�=�+�,4�,*��>?
/7+��	ก�
7���+��,��+�ก�ก��ก�
63���+��,��+�
��
	��+
6��	
�
�ก
�� 240 ksc ��/�4, fiber 

 
��ก�
#�4
�#�$ 28 +�� ��+
6��	#�$ 1 (240 ksc + fiber) 
��
�4�+�"A+�
	4? ,���� 0.48 
   ��+
6��	#�$ 2 (240 ksc + fiber) 
��
�4�+�"A+�
	4? ,���� 0.47 
   ��+
6��	#�$ 3 (240 ksc + fiber) 
��
�4�+�"A+�
	4? ,���� 0.36 
                                 ���0C��$6 0.44 
 
 �ก
!"#�$ 4.4 ���
��
�4�+�"A+�
	4?�
	��+
6��	�
�ก
��
6!�
/7+��	 0.36-0.48 
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������ 4.5 ก
�=�+�,4�,*��>?
/7+��	ก�
7���+��,��+�ก�ก��ก�
63���+��,��+�
� �
	��+
6��	
�
�ก
�� 350 ksc ��/�4, fiber 

 
��ก�
#�4
�#�$ 28 +�� ��+
6��	#�$ 1 (350 ksc + fiber) 
��
�4�+�"A+�
	4? ,���� 0.40 
   ��+
6��	#�$ 2 (350 ksc + fiber) 
��
�4�+�"A+�
	4? ,���� 0.36 
   ��+
6��	#�$ 3 (350 ksc + fiber) 
��
�4�+�"A+�
	4? ,���� 0.43 
                                ���0C��$6 0.39 
 

  �ก
!"#�$ 4.5 ���
��
�4�+�"A+�
	4?�
	��+
6��	�
�ก
��
6!�
/7+��	 0.36-0.43 
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4.3 ก���	
�	�
�
�	���
���ก��� 
  

 
������ 4.6 ก
�=�+�,4�,*��>?
/7+��	 Load ก�� Deflection �
	��+
6��	�
�ก
�� 240 ksc 

 
  �ก
!"#�$ 4.6 0"R�ก
�=�+�,4�,*��>?
/7+��	 �
	#�$ก
/#�� ��/ก�
Sก�	��+�
	��+
6��	
�
�ก
��
!"��� 240 ksc #�$
�6T 28 +�� *�+�� �
	���4!	4T�,����5ก�.0��6	ก�� 
 

 
������ 4.7 ก
�=�+�,4�,*��>?
/7+��	 Load ก�� Crack width �
	��+
6��	�
�ก
�� 240 ksc 

 
  �ก
!"#�$ 4.7 0"R�ก
�=�+�,4�,*��>?
/7+��	 �
	#�$ก
/#�� ��/�+�,ก+.�	

6��ก �
	
��+
6��	�
�ก
��
!"��� 240 ksc #��ก�
#�4
�#�$
�6T 28 +�� 0,3$
4�	0ก�ก
�=*�+�� ��#�$-�.,����
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5ก�.0��6	ก�� ��/,���+S�.,0*1$,��2���,
�6T�
	�
�ก
�� ���078�-�.+�� ��+
6��	#�$ 2 ����+�,ก+.�	

6
��ก-,�0*1$,��2� 0�3$
	 �ก

6��ก-,�-�.����
T"ก
:?#�$�1���2	-+. 
 

 
������ 4.8 ก
�=�+�,4�,*��>?
/7+��	 Deflection ก�� Crack width �
	��+
6��	�
�ก
�� 240 ksc 

 
  �ก
!"#�$ 4.8 0"R�ก
�=�+�,4�,*��>?
/7+��	 ก�
Sก�	��+ ��/�+�,ก+.�	

6��ก �
	��+
6��	
�
�ก
��
!"��� 240 ksc #��ก�
#�4
�#�$
�6T 28 +�� 0,3$
4�	0ก�ก
�=*�+�� ��#�$-�.0"R�-"5�#1X#�	
0��6+ก�� ��/,���+S�.,0*1$,��2���,
�6T�
	�
�ก
�� ���078�-�.+�� ��+
6��	#�$ 2 ����+�,ก+.�	

6��ก-,�
0*1$,��2� 0�3$
	 �ก

6��ก-,�-�.����
T"ก
:?#�$�1���2	-+. 

 
ก���	
�	�
�
�	� ��
���ก��� (Modulus of rupture) 

 ��ก�
#�4
�#�$ 28 +��   ��+
6��	#�$ 1 240 ksc ,���� 58.8 ksc 
      ��+
6��	#�$ 2 240 ksc ,���� 61.4 ksc 
      ��+
6��	#�$ 3 240 ksc ,���� 47.6 ksc 
                    0C��$6 55.9 ksc 
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������ 4.9 ก
�=�+�,4�,*��>?
/7+��	 Load ก�� Deflection �
	��+
6��	�
�ก
�� 240 ksc fiber 

 
 �ก
!"#�$ 4.9 0"R�ก
�=�+�,4�,*��>?
/7+��	 �
	#�$ก
/#�� ��/ก�
Sก�	��+ �
	��+
6��	

�
�ก
��
!"��� 240 ksc fiber #��ก�
#�4
�#�$
�6T 28 +�� 0,3$
4�	0ก�ก
�=*�+�� ��#�$-�.,����5ก�.0��6	
ก�� ��/,���+S�.,0*1$,��2���,
�6T�
	�
�ก
�� 

 

 
������ 4.10 ก
�=�+�,4�,*��>?
/7+��	 Load ก�� Crack width �
	��+
6��	�
�ก
�� 240 ksc fiber 
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 �ก
!"#�$ 4.10 0"R�ก
�=�+�,4�,*��>?
/7+��	 �
	#�$ก
/#�� ��/�+�,ก+.�	

6��ก �
	
��+
6��	�
�ก
��
!"��� 240 ksc fiber #��ก�
#�4
�#�$
�6T 28 +�� 0,3$
4�	0ก�ก
�=*�+�� ��+
6��	#�$ 1 
��/ 3 ����+�,ก+.�	

6��ก-,�0*1$,��2� 0�3$
	 �ก

6��ก-,�-�.����
T"ก
:?#�$�1���2	-+. 4�+���+
6��	#�$ 2 
��2�,����0*1$,��2���,"ก�1 ��$	�+�,ก+.�	

6��ก,����4!	4T� 15 mm 0�3$
	 �ก04.�5607�8ก#�$
6!�5�
4�+��4,�
	�
�ก
����2� ;�+6#��57.�
�ก
��,�ก����	
���
	��	0*1$,��2� 
 

 
������ 4.11 ก
�=�+�,4�,*��>?
/7+��	 Deflection ก�� Crack width �
	��+
6��	�
�ก
�� 240 ksc fiber 

 
  �ก
!"#�$ 4.11 0"R�ก
�=�+�,4�,*��>?
/7+��	 �
	#�$ก
/#�� ��/�+�,ก+.�	

6��ก �
	
��+
6��	�
�ก
��
!"��� 240 ksc fiber #��ก�
#�4
�#�$
�6T 28 +�� 0,3$
4�	0ก�ก
�=*�+�� ��+
6��	#�$ 1 
��/ 3 ����+�,ก+.�	

6��ก-,�0*1$,��2� 0�3$
	 �ก

6��ก-,�-�.����
T"ก
:?#�$�1���2	-+. 4�+���+
6��	#�$ 2 
��2�,����0*1$,��2���,"ก�1 ��$	�+�,ก+.�	

6��ก,����4!	4T� 15 mm 0�3$
	 �ก04.�5607�8ก#�$
6!�5�
4�+��4,�
	�
�ก
����2� ;�+6#��57.�
�ก
��,�ก����	
���
	��	0*1$,��2� 
 
ก���	
�	�
�
�	� ��
���ก��� (Modulus of rupture) 

 ��ก�
#�4
�#�$ 28 +��  ��+
6��	#�$ 1 240 ksc fiber  ,���� 67.1 ksc 
     ��+
6��	#�$ 2 240 ksc fiber  ,���� 62.5 ksc 
     ��+
6��	#�$ 3 240 ksc fiber  ,���� 67.1 ksc 
                    0C��$6 65.5 ksc 
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������ 4.12 ก
�=�+�,4�,*��>?
/7+��	 Load ก�� Deflection �
	��+
6��	�
�ก
�� 350 ksc fiber 

 
 �ก
!"#�$ 4.12 0"R�ก
�=�+�,4�,*��>?
/7+��	 �
	#�$ก
/#�� ��/ก�
Sก�	��+ �
	��+
6��	

�
�ก
��
!"��� 350 ksc fiber #��ก�
#�4
�#�$
�6T 28 +�� 0,3$
4�	0ก�ก
�=*�+�� ��#�$-�.,����5ก�.0��6	
ก�� ��/,���+S�.,0*1$,��2���,
�6T�
	�
�ก
�� 

 

 
������ 4.13 ก
�=�+�,4�,*��>?
/7+��	 Load ก�� Crack width �
	��+
6��	�
�ก
�� 350 ksc fiber 
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  �ก
!"#�$ 4.13 0"R�ก
�=�+�,4�,*��>?
/7+��	 �
	#�$ก
/#�� ��/�+�,ก+.�	

6��ก �
	
��+
6��	�
�ก
��
!"��� 350 ksc fiber #��ก�
#�4
�#�$
�6T 28 +�� 0,3$
4�	0ก�ก
�=*�+�� ��+
6��	#�$ 2 
��2�,�����1�"ก�1 0�3$
	 �ก
T"ก
:?+���+�,ก+.�	

6��ก0ก1�ก�
7�T� ��$	0ก1� �ก

6��ก����Z���
	

T"ก
:?  �	#��57.ก�+#�$�1�
T"ก
:?ก���1+�
	�
�ก
��7�T�

ก 4�+���+
6��	#�$
3$�[��2�,����0*1$,��2�
��,"ก�1 ��$	�+�,ก+.�	

6��ก,����4!	4T� 35 mm 0�3$
	 �ก04.�5607�8ก#�$
6!�5�4�+��4,�
	�
�ก
��
��2� ;�+6#��57.�
�ก
��,�ก����	
���
	��	0*1$,��2� 
�ก#�2	�
�ก
����26�	,��+�,4�,�
\5�ก�

���
	#�$4!	 
 

 
������ 4.14 ก
�=�+�,4�,*��>?
/7+��	 Deflection ก�� Crack width �
	��+
6��	�
�ก
�� 350 ksc fiber 

 
 �ก
!"#�$ 4.14 0"R�ก
�=�+�,4�,*��>?
/7+��	 ก�
Sก�	��+ ��/�+�,ก+.�	

6��ก �
	��+
6��	

�
�ก
��
!"��� 350 ksc fiber #��ก�
#�4
�#�$
�6T 28 +�� 0,3$
4�	0ก�ก
�=*�+�� ��+
6��	#�$ 2 ��2�,����
�1�"ก�1 0�3$
	 �ก
T"ก
:?+���+�,ก+.�	

6��ก0ก1�ก�
7�T� ��$	0ก1� �ก

6��ก����Z���
	
T"ก
:? 
 �	#��57.ก�+#�$�1�
T"ก
:?ก���1+�
	�
�ก
��7�T�

ก 4�+���+
6��	#�$
3$�[��2�,����0*1$,��2���,"ก�1 ��$	
�+�,ก+.�	

6��ก,����4!	4T� 35 mm 0�3$
	 �ก04.�5607�8ก#�$
6!�5�4�+��4,�
	�
�ก
����2� ;�+6#��
57.�
�ก
��,�ก����	
���
	��	0*1$,��2� 
�ก#�2	�
�ก
����26�	,��+�,4�,�
\5�ก�

���
	#�$4!	 
 

ก���	
�	�
�
�	� ��
���ก��� (Modulus of rupture) 

 ��ก�
#�4
�#�$ 28 +��  ��+
6��	#�$ 1 350 ksc fiber  ,���� 74.2 ksc 
     ��+
6��	#�$ 2 350 ksc fiber  ,���� 74.7 ksc 
     ��+
6��	#�$ 3 350 ksc fiber  ,���� 73.3 ksc 
                    0C��$6 74.1 ksc 
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4.4 ก���	
�	�
�
�	���
������ก���7��897:�;ก 

 

4.4.1 ��� B1 

 

 
������ 4.15 ก
�=�+�,4�,*��>?
/7+��	 Load ก�� Deflection �
	��� B1 

  �ก
!"#�$ 4.15 �4�	ก
�=�+�,4�,*��>?
/7+��	 �
	ก�#�$ก
/#�� (Load) ��/ก�
Sก�	��+#�$
ก�$	ก��	��� (Deflection) �
	��� B1 240 ksc �;��2��0"��� ����
	4!	4T�#�$
��-�.ก�
�#�$��� /+1���1
6!�#�$ 
250 kN 4�+�ก�
Sก�	��+�
	���#�4
���2�0*1$,��2���,
/6/0+��5�ก�
#�4
� ��2	���0
1$, �ก
/#�$	
76T�#�4
� 
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������ 4.16 ก
�=�+�,4�,*��>?
/7+��	 Strain �
�ก
��#�$�1+���
	��� ก�� Deflection �
	��� B1 

 
  �ก
!"#�$ 4.16 0"R�ก
�=�+�,4�,*��>?
/7+��	 Strain�
	�
�ก
�� ��/ก�
Sก�	��+#�$ก�$	ก��	
��� (Deflection) �
	��� B1 240 ksc �;��2��0"��� ����+�,0�
�6�4!	4T�#�$
��-�.ก�
�#�$��� /+1���1
6!�#�$ 
3,000 micron 4�+�ก�
Sก�	��+�
	���#�4
���2�0*1$,��2���,
/6/0+��5�ก�
#�4
� ��2	���0
1$,
 �ก
/#�$	76T�#�4
� 

 
������ 4.17 ก
�=�+�,4�,*��>?
/7+��	 Strain 07�8ก�� ก�� Deflection �
	��� B1 

 
  �ก
!"#�$ 4.17 0"R�ก
�=�+�,4�,*��>?
/7+��	 Strain�
	07�8ก�� ��/ก�
Sก�	��+#�$ก�$	ก��	
��� (Deflection) �
	��� B1 240 ksc �;��2��0"��� ����+�,0�
�6�4!	4T�#�$
��-�.ก�
�#�$��� /+1���1
6!�#�$ -
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500 micron 0"R��
	
�� 4�+�ก�
Sก�	��+�
	���#�4
���2�0*1$,��2���,
/6/0+��5�ก�
#�4
� ��2	���
0
1$, �ก
/#�$	76T�#�4
� ��$	4�	0ก�-�.+��ก
�=-,�"ก�1 0ก1� �ก Strain gauge -�.7�T�

ก /�1+07�8ก 

 
������ 4.18 ก
�=�+�,4�,*��>?
/7+��	 Strain 07�8ก���	 ก�� Deflection �
	��� B1 

 

  �ก
!"#�$ 4.18 �4�	ก
�=�+�,4�,*��>?
/7+��	 Strain�
	07�8ก���	 ��/ก�
Sก�	��+#�$ก�$	ก��	
��� (Deflection) �
	��� B1 240 ksc �;��2�� ����+�,0�
�6�4!	4T�#�$
��-�.ก�
�#�$��� /+1���1
6!�#�$ 
12,000 micron ��+
1, 0�3$
	 �ก

6��ก#�$#.
	���-,�-�.0ก1��
	ก��	 4�+�ก�
Sก�	��+�
	���#�4
�
��2�0*1$,��2���,
/6/0+��5�ก�
#�4
� ��2	���0
1$, �ก
/#�$	76T�#�4
� ��$	4�	0ก�-�.+��ก
�=�
	
��+ก��	-,�"ก�1 0ก1� �ก Strain gauge -�.7�T�

ก /�1+07�8ก 
 

4.4.2 ��� B2 

 
������ 4.19 ก
�=�+�,4�,*��>?
/7+��	 Load ก�� Deflection �
	��� B2 
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 �ก
!"#�$ 4.19 0"R�ก
�=�+�,4�,*��>?
/7+��	 �
	ก�#�$ก
/#�� (Load) ��/ก�
Sก�	��+#�$
ก�$	ก��	��� (Deflection) �
	��� B2 240 ksc fiber �;��2��0"��� ����
	4!	4T�#�$
��-�.ก�
�#�$��� /+1���1

6!�#�$ 300 kN 4�+�ก�
Sก�	��+�
	���#�4
���2�0*1$,��2���,
/6/0+��5�ก�
#�4
� ��2	���0
1$,
 �ก
/#�$	76T�#�4
� 

 

 
������ 4.20 ก
�=�+�,4�,*��>?
/7+��	 Strain �
�ก
��#�$�1+���
	��� ก�� Deflection �
	��� B2 

 
  �ก
!"#�$ 4.20 0"R�ก
�=�+�,4�,*��>?
/7+��	 Strain�
	�
�ก
�� ��/ก�
Sก�	��+#�$ก�$	ก��	
��� (Deflection) �
	��� B2 240 ksc fiber �;��2��0"��� ����+�,0�
�6�4!	4T�#�$
��-�.ก�
�#�$��� /+1���1

6!�#�$ 2,500 micron 4�+�ก�
Sก�	��+�
	���#�4
���2�0*1$,��2���,
/6/0+��5�ก�
#�4
� ��2	���0
1$,
 �ก
/#�$	76T�#�4
� 4�	0ก�-�.+��ก
�=,�;�+	#�$����ก�	 0ก1� �กก�
��ก
.�+0ก1�5ก�.ก���
10+:#�$�1� 
Strain gauge 
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������ 4.21 ก
�=�+�,4�,*��>?
/7+��	 Strain 07�8ก�� ก�� Deflection �
	��� B2 

 
  �ก
!"#�$ 4.21 0"R�ก
�=�+�,4�,*��>?
/7+��	 Strain�
	07�8ก�� ��/ก�
Sก�	��+#�$ก�$	ก��	
��� (Deflection) �
	��� B2 240 ksc fiber �;��2��0"��� ����+�,0�
�6�4!	4T�#�$
��-�.ก�
�#�$��� /+1���1

6!�#�$ -1,000 micron 0"R��
	
�� 4�+�ก�
Sก�	��+�
	���#�4
���2�0*1$,��2���,
/6/0+��5�ก�

#�4
� ��2	���0
1$, �ก
/#�$	76T�#�4
� 

 

 
������ 4.22 ก
�=�+�,4�,*��>?
/7+��	 Strain 07�8ก���	 ก�� Deflection �
	��� B2 

 
  �ก
!"#�$ 4.22 0"R�ก
�=�+�,4�,*��>?
/7+��	 Strain�
	07�8ก���	 ��/ก�
Sก�	��+#�$ก�$	ก��	
��� (Deflection) �
	��� B2 240 ksc fiber �;��2��0"��� ����+�,0�
�6�4!	4T�#�$
��-�.ก�
�#�$��� /+1���1
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6!�#�$ 16,000 micron ��+ก��	 4�+�ก�
Sก�	��+�
	���#�4
���2�0*1$,��2���,
/6/0+��5�ก�
#�4
� 
��2	���0
1$, �ก
/#�$	76T�#�4
� 
 

4.4.3 ��� B3 

 
������ 4.23 ก
�=�+�,4�,*��>?
/7+��	 Load ก�� Deflection �
	��� B3 

 
 �ก
!"#�$ 4.23 0"R�ก
�=�+�,4�,*��>?
/7+��	 �
	ก�#�$ก
/#�� (Load) ��/ก�
Sก�	��+#�$

ก�$	ก��	��� (Deflection) �
	��� B3 240 ksc �;��2��0ก�3
��
-
�? 5% ����
	4!	4T�#�$
��-�.ก�
�#�$���
 /+1���1
6!�#�$ 250 kN 4�+�ก�
Sก�	��+�
	���#�4
���2�0*1$,��2���,
/6/0+��5�ก�
#�4
� ��2	���0
1$,
 �ก
/#�$	76T�#�4
� 

 

 
������ 4.24 ก
�=�+�,4�,*��>?
/7+��	 Strain �
�ก
��#�$�1+���
	��� ก�� Deflection �
	��� B3 
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  �ก
!"#�$ 4.24 0"R�ก
�=�+�,4�,*��>?
/7+��	 Strain�
	�
�ก
�� ��/ก�
Sก�	��+#�$ก�$	ก��	
��� (Deflection) �
	��� B3 240 ksc �;��2��0ก�3
��
-
�? 5% ����+�,0�
�6�4!	4T�#�$
��-�.ก�
�#�$���
 /+1���1
6!�#�$ 2,500 micron 4�+�ก�
Sก�	��+�
	���#�4
���2�0*1$,��2���,
/6/0+��5�ก�
#�4
� 
��2	���0
1$, �ก
/#�$	76T�#�4
� 

 
������ 4.25 ก
�=�+�,4�,*��>?
/7+��	 Strain 07�8ก�� ก�� Deflection �
	��� B3 

 
  �ก
!"#�$ 4.25 0"R�ก
�=�+�,4�,*��>?
/7+��	 Strain�
	07�8ก�� ��/ก�
Sก�	��+#�$ก�$	ก��	
��� (Deflection) �
	��� B3 240 ksc �;��2��0ก�3
��
-
�? 5% ����+�,0�
�6�4!	4T�#�$
��-�.ก�
�#�$���
 /+1���1
6!�#�$ -1,300 micron 0"R��
	
�� 4�+�ก�
Sก�	��+�
	���#�4
���2�0*1$,��2���,
/6/0+��5�ก�

#�4
� ��2	���0
1$, �ก
/#�$	76T�#�4
� 4�	0ก�ก
�=078�-�.+������
	ก
�=,�ก�
��2�[�	[ 0�3$
	 �ก#�$
�1+�.�����
	���#�4
�0ก1�ก�
��ก
.�+
6��	��
0�3$
	 ��2	���0
1$, �76T�#�4
� 
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������ 4.26 ก
�=�+�,4�,*��>?
/7+��	 Strain 07�8ก���	 ก�� Deflection �
	��� B3 

 
  �ก
!"#�$ 4.26 0"R�ก
�=�+�,4�,*��>?
/7+��	 Strain�
	07�8ก���	 ��/ก�
Sก�	��+#�$ก�$	ก��	
��� (Deflection) �
	��� B3 240 ksc �;��2��0ก�3
��
-
�? 5% ����+�,0�
�6�4!	4T�#�$
��-�.ก�
�#�$���
 /+1���1
6!�#�$ 20,000 micron ��+
1, 0�3$
	 �ก

6��ก#�$#.
	���-,�-�.0ก1��
	ก��	 4�+�ก�
Sก�	��+�
	
���#�4
���2�0*1$,��2���,
/6/0+��5�ก�
#�4
� ��2	���0
1$, �ก
/#�$	76T�#�4
� ��$	4�	0ก�-�.+��
ก
�=�
	��+ก��	-,�0*1$,��2� 0ก1� �ก Strain gauge -�.7�T�

ก /�1+07�8ก��2	���ก�
�#�$ /0
1$,ก�

#�4
� 0�3$
	 �ก4�1,#�$07�8ก04
1,�6�6��+

ก 
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4.4.4 ��� B4 

 
������ 4.27 ก
�=�+�,4�,*��>?
/7+��	 Load ก�� Deflection �
	��� B4 

 
  �ก
!"#�$ 4.27 0"R�ก
�=�+�,4�,*��>?
/7+��	 �
	ก�#�$ก
/#�� (Load) ��/ก�
Sก�	��+#�$
ก�$	ก��	��� (Deflection) �
	��� B4 240 ksc fiber �;��2��0ก�3
��
-
�? 5% ����
	4!	4T�#�$
��-�.
ก�
�#�$��� /+1���1
6!�#�$ 300 kN 4�+�ก�
Sก�	��+�
	���#�4
���2�0*1$,��2���,
/6/0+��5�ก�

#�4
� ��2	���0
1$, �ก
/#�$	76T�#�4
� 
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������ 4.28 ก
�=�+�,4�,*��>?
/7+��	 Strain �
�ก
��#�$�1+���
	��� ก�� Deflection �
	��� B4 

 
  �ก
!"#�$ 4.28 0"R�ก
�=�+�,4�,*��>?
/7+��	 Strain�
	�
�ก
�� ��/ก�
Sก�	��+#�$ก�$	ก��	
��� (Deflection) �
	��� B4 240 ksc fiber �;��2��0ก�3
��
-
�? 5% ����+�,0�
�6�4!	4T�#�$
��-�.
ก�
�#�$��� /+1���1
6!�#�$ 3,500 micron 4�+�ก�
Sก�	��+�
	���#�4
���2�0*1$,��2���,
/6/0+��5�ก�

#�4
� ��2	���0
1$, �ก
/#�$	76T�#�4
� 4�	0ก�-�.+��ก
�=,�;�+	#�$����ก�	 0ก1� �กก�
��ก
.�+0ก1�5ก�.
ก���
10+:#�$�1� Strain gauge 
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������ 4.29 ก
�=�+�,4�,*��>?
/7+��	 Strain 07�8ก���	 ก�� Deflection �
	��� B4 

 
  �ก
!"#�$ 4.29 0"R�ก
�=�+�,4�,*��>?
/7+��	 Strain�
	07�8ก���	 ��/ก�
Sก�	��+#�$ก�$	ก��	
��� (Deflection) �
	��� B4 240 ksc fiber �;��2��0ก�3
��
-
�? 5% ����+�,0�
�6�4!	4T�#�$
��-�.
ก�
�#�$��� /+1���1
6!�#�$ 25,000 micron ��+
1, 0�3$
	 �ก

6��ก#�$#.
	���-,�-�.0ก1��
	ก��	 4�+�ก�

Sก�	��+�
	���#�4
���2�0*1$,��2���,
/6/0+��5�ก�
#�4
� ��2	���0
1$, �ก
/#�$	76T�#�4
� ��$	
4�	0ก� �กก
�=��.+ /-,�,�����
	��+ก��	 0ก1� �ก4�6 Strain gauge -�.���ก�
�#�$ /0
1$,#��ก�

#�4
� 
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4.4.5 ��� B5 

 
������ 4.30 ก
�=�+�,4�,*��>?
/7+��	 Load ก�� Deflection �
	��� B5 

 
  �ก
!"#�$ 4.30 0"R�ก
�=�+�,4�,*��>?
/7+��	 �
	ก�#�$ก
/#�� (Load) ��/ก�
Sก�	��+#�$
ก�$	ก��	��� (Deflection) �
	��� B5 240 ksc fiber �;��2��0ก�3
��
-
�? 5% ����
	4!	4T�#�$
��-�.
ก�
�#�$��� /+1���1
6!�#�$ 300 kN 4�+�ก�
Sก�	��+�
	���#�4
���2�0*1$,��2���,
/6/0+��5�ก�

#�4
� ��2	���0
1$, �ก
/#�$	76T�#�4
� 
 

 
������ 4.31 ก
�=�+�,4�,*��>?
/7+��	 Strain �
�ก
��#�$�1+���
	��� ก�� Deflection �
	��� B5 
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  �ก
!"#�$ 4.31 0"R�ก
�=�+�,4�,*��>?
/7+��	 Strain�
	�
�ก
�� ��/ก�
Sก�	��+#�$ก�$	ก��	
��� (Deflection) �
	��� B5 240 ksc fiber �;��2��0ก�3
��
-
�? 5% ����+�,0�
�6�4!	4T�#�$
��-�.
ก�
�#�$��� /+1���1
6!�#�$ 1,400 micron 4�+�ก�
Sก�	��+�
	���#�4
���2�0*1$,��2���,
/6/0+��5�ก�

#�4
� ��2	���0
1$, �ก
/#�$	76T�#�4
� 

 
������ 4.32 ก
�=�+�,4�,*��>?
/7+��	 Strain 07�8ก�� ก�� Deflection �
	��� B5 

 
  �ก
!"#�$ 4.32 0"R�ก
�=�+�,4�,*��>?
/7+��	 Strain�
	07�8ก�� ��/ก�
Sก�	��+#�$ก�$	ก��	
��� (Deflection) �
	��� B5 240 ksc fiber �;��2��0ก�3
��
-
�? 5% ����+�,0�
�6�4!	4T�#�$
��-�.
ก�
�#�$��� /+1���1
6!�#�$   -120 micron 0"R��
	
�� 4�+�ก�
Sก�	��+�
	���#�4
���2�0*1$,��2���,

/6/0+��5�ก�
#�4
� ��2	���0
1$, �ก
/#�$	76T�#�4
� 4�	0ก�ก
�=078�-�.+������
	ก
�=,�ก�
��2�[
�	[ 0�3$
	 �ก#�$�1+�.�����
	���#�4
�0ก1�ก�
��ก
.�+
6��	��
0�3$
	 ��2	���0
1$, �76T�#�4
� 
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������ 4.33 ก
�=�+�,4�,*��>?
/7+��	 Strain 07�8ก���	 ก�� Deflection �
	��� B5 

 
  �ก
!"#�$ 4.33 0"R�ก
�=�+�,4�,*��>?
/7+��	 Strain�
	07�8ก���	 ��/ก�
Sก�	��+#�$ก�$	ก��	
��� (Deflection) �
	��� B5 240 ksc fiber �;��2��0ก�3
��
-
�? 5% ����+�,0�
�6�4!	4T�#�$
��-�.
ก�
�#�$��� /+1���1
6!�#�$ 10,000 micron ��+ก��	 4�+�ก�
Sก�	��+�
	���#�4
���2�0*1$,��2���,

/6/0+��5�ก�
#�4
� ��2	���0
1$, �ก
/#�$	76T�#�4
� 

 

4.4.6 ��� B6 

 
������ 4.34 ก
�=�+�,4�,*��>?
/7+��	 Load ก�� Deflection �
	��� B6 
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  �ก
!"#�$ 4.34 0"R�ก
�=�+�,4�,*��>?
/7+��	 �
	ก�#�$ก
/#�� (Load) ��/ก�
Sก�	��+#�$
ก�$	ก��	��� (Deflection) �
	��� B6 350 ksc fiber �;��2��0"��� ����
	4!	4T�#�$
��-�.ก�
�#�$��� /+1���1

6!�#�$ 330 kN 4�+�ก�
Sก�	��+�
	���#�4
���2�0*1$,��2���,
/6/0+��5�ก�
#�4
� ��2	���0
1$,
 �ก
/#�$	76T�#�4
� 
 

 
������ 4.35 ก
�=�+�,4�,*��>?
/7+��	 Strain �
�ก
��#�$�1+���
	��� ก�� Deflection �
	��� B6 

 

  �ก
!"#�$ 4.35 0"R�ก
�=�+�,4�,*��>?
/7+��	 Strain�
	�
�ก
�� ��/ก�
Sก�	��+#�$ก�$	ก��	
��� (Deflection) �
	��� B6 350 ksc fiber �;��2��0"��� ����+�,0�
�6�4!	4T�#�$
��-�.ก�
�#�$��� /+1���1

6!�#�$ 3,000 micron 4�+�ก�
Sก�	��+�
	���#�4
���2�0*1$,��2���,
/6/0+��5�ก�
#�4
� ��2	���0
1$,
 �ก
/#�$	76T�#�4
� 

 
������ 4.36 ก
�=�+�,4�,*��>?
/7+��	 Strain 07�8ก�� ก�� Deflection �
	��� B6 
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  �ก
!"#�$ 4.36 0"R�ก
�=�+�,4�,*��>?
/7+��	 Strain�
	07�8ก�� ��/ก�
Sก�	��+#�$ก�$	ก��	
��� (Deflection) �
	��� B6 350 ksc fiber �;��2��0"��� ����+�,0�
�6�4!	4T�#�$
��-�.ก�
�#�$��� /+1���1

6!�#�$ -2,400 micron 0"R��
	
�� 4�+�ก�
Sก�	��+�
	���#�4
���2�0*1$,��2���,
/6/0+��5�ก�

#�4
� ��2	���0
1$, �ก
/#�$	76T�#�4
� 
 

 
������ 4.37 ก
�=�+�,4�,*��>?
/7+��	 Strain 07�8ก���	 ก�� Deflection �
	��� B6 

 

  �ก
!"#�$ 4.37 0"R�ก
�=�+�,4�,*��>?
/7+��	 Strain�
	07�8ก���	 ��/ก�
Sก�	��+#�$ก�$	ก��	
��� (Deflection) �
	��� B6 350 ksc fiber �;��2��0"��� ����+�,0�
�6�4!	4T�#�$
��-�.ก�
�#�$��� /+1���1

6!�#�$ 15,000 micron ��+ก��	 4�+�ก�
Sก�	��+�
	���#�4
���2�0*1$,��2���,
/6/0+��5�ก�
#�4
� 
��2	���0
1$, �ก
/#�$	76T�#�4
� ��� /078�-�.+��ก
�=�
	��+ก��	��2�-,�4,�!
:? 0�3$
	 �ก4�6 Strain 
gauge -�.���ก�
�#�$ /76T�ก�
#�4
� 
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4.4.7 ��� B7 

 
������ 4.38 ก
�=�+�,4�,*��>?
/7+��	 Load ก�� Deflection �
	��� B7 

 
  �ก
!"#�$ 4.38 0"R�ก
�=�+�,4�,*��>?
/7+��	 �
	ก�#�$ก
/#�� (Load) ��/ก�
Sก�	��+#�$
ก�$	ก��	��� (Deflection) �
	��� B7 350 ksc fiber �;��2��0ก�3
��
-
�? 5% ����
	4!	4T�#�$
��-�.
ก�
�#�$��� /+1���1
6!�#�$ 320 kN 4�+�ก�
Sก�	��+�
	���#�4
���2�0*1$,��2���,
/6/0+��5�ก�

#�4
� ��2	���0
1$, �ก
/#�$	76T�#�4
� 

 
������ 4.39 ก
�=�+�,4�,*��>?
/7+��	 Strain �
�ก
��#�$�1+���
	��� ก�� Deflection �
	��� B7 

 

  �ก
!"#�$ 4.39 0"R�ก
�=�+�,4�,*��>?
/7+��	 Strain�
	�
�ก
�� ��/ก�
Sก�	��+#�$ก�$	ก��	
��� (Deflection) �
	��� B7 350 ksc fiber �;��2��0ก�3
��
-
�? 5% ����+�,0�
�6�4!	4T�#�$
��-�.
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ก�
�#�$��� /+1���1
6!�#�$ 3,500 micron 4�+�ก�
Sก�	��+�
	���#�4
���2�0*1$,��2���,
/6/0+��5�ก�

#�4
� ��2	���0
1$, �ก
/#�$	76T�#�4
� 

 
������ 4.40 ก
�=�+�,4�,*��>?
/7+��	 Strain 07�8ก�� ก�� Deflection �
	��� B7 

 
  �ก
!"#�$ 4.40 0"R�ก
�=�+�,4�,*��>?
/7+��	 Strain�
	07�8ก�� ��/ก�
Sก�	��+#�$ก�$	ก��	
��� (Deflection) �
	��� B7 350 ksc fiber �;��2��0ก�3
��
-
�? 5% ����+�,0�
�6�4!	4T�#�$
��-�.
ก�
�#�$��� /+1���1
6!�#�$   -2,400 micron 0"R��
	
�� 4�+�ก�
Sก�	��+�
	���#�4
���2�0*1$,��2���,

/6/0+��5�ก�
#�4
� ��2	���0
1$, �ก
/#�$	76T�#�4
� 

 

 
������ 4.41 ก
�=�+�,4�,*��>?
/7+��	 Strain 07�8ก���	 ก�� Deflection �
	��� B7 
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  �ก
!"#�$ 4.41 0"R�ก
�=�+�,4�,*��>?
/7+��	 Strain�
	07�8ก���	 ��/ก�
Sก�	��+#�$ก�$	ก��	
��� (Deflection) �
	��� B7 350 ksc fiber �;��2��0ก�3
��
-
�? 5% ����+�,0�
�6�4!	4T�#�$
��-�.
ก�
�#�$��� /+1���1
6!�#�$ 45,000 micron ��+
1, 0�3$
	 �ก

6��ก#�$#.
	���-,�-�.0ก1��
	ก��	 4�+�ก�

Sก�	��+�
	���#�4
���2�0*1$,��2���,
/6/0+��5�ก�
#�4
� ��2	���0
1$, �ก
/#�$	76T�#�4
� ��$	
4�	0ก� �กก
�=��.+����
	��+ก��	-,�0*1$,��2���.+ก87�6-" 0�3$
	 �ก Strain gauge -�.7�T�

ก0*
�/
4�1, ��/ก8���-"5��:/#�4
� 
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4.5 ก��7���=�7��=� Load ก	� Deflection ��
���
����ก�D�9 

 
������ 4.42 ก
�=�+�,4�,*��>?
/7+��	 Load ก�� Deflection �
	ก�T�,��� 240 ksc 

 
  �ก
!"#�$ 4.42 0"R�ก
�=�+�,4�,*��>?
/7+��	 �
	ก�#�$ก
/#�� (Load) ��/ก�
Sก�	��+#�$
ก�$	ก��	��� (Deflection) �
	ก�T�,��� 240 ksc S�60"
�6�0#�6�
/7+��	��� B1 ��/��� B3  /078�
-�.+����� B3 #�$�;�5��2��0ก�3
��
-
�?��2� ,����ก����	�.
6ก+����� B1 #�$�;�5��2��>

,�� 0�8ก�.
6 
 

 
������ 4.43 ก
�=�+�,4�,*��>?
/7+��	 Load ก�� Deflection �
	ก�T�,��� 240 ksc fiber 

 
 �ก
!"#�$ 4.43 0"R�ก
�=�+�,4�,*��>?
/7+��	 �
	ก�#�$ก
/#�� (Load) ��/ก�
Sก�	��+#�$

ก�$	ก��	��� (Deflection) �
	ก�T�,��� 240 ksc fiber S�60"
�6�0#�6�
/7+��	��� B2, ��� B4 ��/
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��� B5  /078�-�.+��5�;�+	�
ก��� B2 #�$�;�5��2��>

,����2� ,����ก����	4!	ก+����� B4 ��/��� B5 #�$
�;�5��2��0ก�3
��
-
�?
6!��1�7��
6 *
\�	 T�7��$	���ก8ก���,�5ก�.0��6	ก��#�2	7,� 

 
������ 4.44 ก
�=�+�,4�,*��>?
/7+��	 Load ก�� Deflection �
	ก�T�,��� 350 ksc fiber 

 
  �ก
!"#�$ 4.44 0"R�ก
�=�+�,4�,*��>?
/7+��	 �
	ก�#�$ก
/#�� (Load) ��/ก�
Sก�	��+#�$
ก�$	ก��	��� (Deflection) �
	ก�T�,��� 350 ksc fiber S�60"
�6�0#�6�
/7+��	��� B6 ��/��� B7  /
078�-�.+����� B7 #�$�;�5��2��0ก�3
��
-
�?��2� ,����ก����	�.
6ก+����� B6 #�$�;�5��2��>

,�� 0�8ก�.
6 
 

 
������ 4.45 ก
�=�+�,4�,*��>?
/7+��	 Load ก�� Deflection �
	ก�T�,����;��2��>

,�� 
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  �ก
!"#�$ 4.45 0"R�ก
�=�+�,4�,*��>?
/7+��	 �
	ก�#�$ก
/#�� (Load) ��/ก�
Sก�	��+#�$
ก�$	ก��	��� (Deflection) �
	ก�T�,����;��2��>

,�� S�60"
�6�0#�6�
/7+��	��� B1, ��� B2 ��/
��� B6 ��$	��� B6 ,����ก����	,�ก#�$4T� 

	�	,��3
��� B2 ��/��� B1 ��,������ 
 

 
������ 4.46 ก
�=�+�,4�,*��>?
/7+��	 Load ก�� Deflection �
	ก�T�,����;��2��0ก�3
��
-
�? 5% 

 
  �ก
!"#�$ 4.46 0"R�ก
�=�+�,4�,*��>?
/7+��	 �
	ก�#�$ก
/#�� (Load) ��/ก�
Sก�	��+#�$
ก�$	ก��	��� (Deflection) �
	ก�T�,����;��2��0ก�3
��
-
�? 5% S�60"
�6�0#�6�
/7+��	��� B3, ��� 
B4, ��� B5 ��/��� B7 ��$	5�;�+	�
ก��� B7,����ก����	,�ก#�$4T� ���,�กก+����� B4 ��/��� B5 
0*�6	0�8ก�.
6 ���5�;�+	7��	ก8,����5ก�.0��6	ก�� 4�+���� B3 ��2�,�����.
6#�$4T� 
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4.6 ��89�E���F��"G����ก��� 

 

 
������ 4.47 ก
�=�+�,4�,*��>?
/7+��	"
1,�:��
-
�?��,�+�,��ก�
	ก�T�,����;��2��0ก�3
��
-
�? 

5.0% 
 

  �ก
!"#�$ 4.47 0"R�ก
�=�+�,4�,*��>?
/7+��	"
1,�:��
-
�?��,�+�,��ก�
	ก�T�,����;�
�2��0ก�3
��
-
�? 5.0% S�60"
�6�0#�6�
/7+��	��� B3, ��� B4, ��� B5 ��/��� B7 #�$�+�,��ก 1 cm 
�
ก �ก�1+�
�ก
�����4!	#�$4T��3
��� B5 0�3$
	 �ก�:/0 �/0
��	�
�ก
���
	��� B5 -�.0 �/5ก�.ก��
����7��	07�8ก  �	#��57.,����"
1,�:��
-
�?#�$4!	 ��
,����ก8���	��,������ 4�+����
3$�[,����0"R�-"
��,"ก�1 ��/"
1,�:��
-
�?��2� /,�ก7
3
�.
6 ��2�
6!�ก��ก����	�
	�
�ก
�� ��/����+�,��ก
��,������ 
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4.7 ก���	
�	����ก���������H = 8I� Schmidt hammer 

 
����
��� 4.1 ก����	
���
�ก
��#�4
��.+6+1>� Schmidt hammer 

 
 

  �ก��
�	#�$ 4.1 ก�
#�4
�ก����	
���
	
���.+6 Schmidt hammer ��2 #�4
�0*3$
#�$ /
�
+ 4
�+��ก����	
���
	�
�ก
�� ,����0"R�-"��,�+�,0"R� 
1	7
3
-,� ��#�$-�. ก����	
���
	�
�ก
�� 
,����0*1$,��2���,
/6/0+��#�$#��ก�
X�ก9�+1 �6 0"R�-"��,�+�,0"R� 
1	 
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4.8 ก���	
�	�
�
�	���
�D���
������ก���7��897:�;กM�=:�	
7:�;ก7��897ก8���89 

 

����
��� 4.2 ก����	
���
	����
	����
�ก
��04
1,07�8กd�67��	07�8ก04
1,0ก1�4�1, 

��� 
4d�+/

41$	�+��.
, 

As 

����+: 

(cm
2
) 

As 

#�4
� 

(cm
2
) 

Mcr 

����+: 

(kg-m) 

Mcr 

#�4
� 

(kg-m) 

∆Mcr 
(%) 

My 

����+: 

(kg-m) 

My 

#�4
� 

(kg-m) 

My 
% #�$���	 

Mn 

����+: 

(kg-m) 

Mn 

#�4
� 

(kg-m) 

∆Mn 
 (%) 

B1 �2�� 4.02 1.99 975 1,530 -56.9 4,872 4,897 -0.5 6,829 5,490 19.6 

B2 �2�� 4.02 3.06 974 2,141 -119.7 6,698 5,918 11.6 7,227 6,269 13.3 

B3 �2��0ก�3
 4.02 1.38 975 1,427 -46.3 4,872 4,695 3.6 6,829 5,172 24.3 

B4 �2��0ก�3
 4.02 2.90 974 2,039 -109.3 6,698 5,515 17.7 7,227 6,100 15.6 

B5 �2��0ก�3
 4.02 2.99 1,007 2,039 -102.6 6,868 5,525 19.6 7,431 6,371 14.3 

B6 �2�� 4.02 3.46 1,125 2,446 -117.4 6,698 6,018 10.2 7,528 6,932 7.9 

B7 �2��0ก�3
 4.02 3.03 1,125 2,345 -108.4 6,698 5,764 13.9 7,528 6,457 14.2 

:9�=7:�D  ∆M ,����0"R��+ก 0,3$
��� �กก�
#�4
��.
6ก+����� �กก�
����+: 

  ∆M ,����0"R��� 0,3$
��� �กก�
#�4
�,�กก+����� �กก�
����+: 

 
  �ก��
�	#�$ 4.2 4�,�
\4
T"-�.��	��2 

1. ก����	
���
	����
	����
�ก
��04
1,07�8ก0,3$
0�;1h0ก�3
��
-
�?,�������	 (0,3$
*1 �
:�
ก����	
���
	����
	��� B6 ก����� B7)  

2. ����
�ก
��04
1,07�8ก#�$-,�-�.�4,04.�5607�8ก,�ก����	
���
	������$���	,�กก+�� (0,3$

*1 �
:�ก����	
���
	����
	��� B3 ก����� B4)  

3. ก����	
���
	����
	���#�$5;.ก����	
��"
/��6�
�ก
�� 350 ksc ��/���#�$5;.ก����	
��"
/��6
�
�ก
�� 240 ksc ก�
���	�
	ก����	
���
	���,����5ก�.0��6	ก�� (0,3$
*1 �
:�ก����	
���
	���
�
	��� B4 ก����� B7) 
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����� 5 

 

��	
�� 

  
5.1 ��	
�� 

��กก��	
��
�����ก������ก�����
������ก������������ก	� !����"�#$����ก (Steel 
fiber) #��/�0��0
�"���ก�1����2�
3 (�0����"��"��ก�1����2�
3 5%) ���#��/�0��0
�"��	� 
2�6���ก�1����2�
3 (�78��9�6�) :
$	;7
��
�/�0��$<6#��/�0��9=$ก��;>��"
 (�9=$ก 5 0;������"
 2 
0;�) �����@��A92
"
;
��7 

1. ก��#�6��"�#$����กC60$��� ��0�������@ก8��;
�;>��

;
��
���#�"�<
��7� 	;7
���	� �$<6
#��/�0��0
�"���ก�1����2�
3����/�0��0
�"��	� 2�6���ก�1����2�
3 

2. ก��#C"ก8��;
�;>��
�;
���ก��� ( '
cf ) 	� �<
��7�#�������ก������������ก C60$��� ��0��

�"��	��ก���	�กD����
�ก�1����2�
3��
������ก������������ก#�"�<
��7� 
      3. ก���8��0E��9����E��"��;
����ก�����	� �<F���$29��1 �
��กก���ก�
������
����ก
����������@	8�2
":
$0�G��8��0E$"��ก�;> (Back calculation) 
 4.��$����ก����A"�����ก (Covering) 	� ��� ���7�C60$#���� ��0���"��	��ก���	�กD�����
2�
3��
������ก������������ก 
      5. :��

����72
"	8�ก���;S�������
�;7
��>>ก��@6�$�78��;�:��;�� �9=$ก��;>��"
 (Wet 
and dry cycle system) :
$#C"ก���;7
�0�����9YZ��78��9[�!��8����� ��������@#C"
��2
"
� 

6. ��ก!�ก��	
��
������ก������������ก!����"�#$����ก#��/�0��0
�"�����2�
3
�>06� ก���������"�#$����ก�
#�������ก�����1 ���� �ก8��;
�;>��

;
��
����;7��"�
��0;
��ก
������ก��� �$<6#��/�0�	� �0
�"��
"0$�ก�1����2�
3 ��1 �
��ก��"�#$����ก	� ก����$�;0�$<6
>���0E!�0��"�������ก�
����2
"�$6�
�0
���0��1 ��;�!;�ก;>�ก�1����2�
3 ��1�����9[������A�8�
�ก�1����2�
3�	�กD����"��<6����ก�������;ก��
���2
" 	8�#�"����ก�������;ก�ก�
����ก6���0���;�
�0� 
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5.2 ���������� 

 1. �0�	8�ก����ก��!�ก��	>��
��"�#$����ก��� ���7� :
$�9�� $��9�
9����E���C��

��
��"�#$����ก#�"���ก���$��7� ��1 �#�"	��>@�
��0:�"���
ก8��;
�;>��

;
����0���
	�
��
���ก���	� #C"��"�#$����ก��6��C��
 ���9����E	� ���������
��"�#$����ก��6��C��
	� 	8�#�"
������ก����;7���9����	G�/����ก	� �A
 
 2. �0���ก�����
������ก������������ก#�F6��7� ����;����60�9����E����ก�������;ก
�6�
] 
"0$ ��1 �#�"	��>@�
ก���9�� $��9�
29��
ก8��;
�;>��

;
����0���
	���
���ก��� 06�
#���6�����
��
���	
��>���#���6��9����E����ก�������;ก�;7� �6
!�#�"�6�������ก���
�$6�
2� 
 3. �0���ก���;S����>>�9=$ก��;>��"
 (Wet and dry cycle system) #�"��><�E3��ก��7� 
�C6� ��� ���>>2^^_��8���
 �����>>@;
�ก�>�78��8���
�8���;>�/�0��0
�"��	� 2�6���ก�1����2�
3 
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